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Question Id : 3421234675 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table shows the percentage (%) distribution of population in five different age
groups for five different cities A-E. Based on the data in the table. answer the questions that
tollows.

City-wise Details of Population

Percentage Distribution of Population in Age Groups of
O=Age=13|13=Age=19 | 19<Age=35 | 35=Age=60| Age=60
A 18% 12% 24% 30% 16%
B 16% 18% 22% 29% 15%
C 20% 20% 20% 25% 15%
D 15% 18% 21% 26% 20%
E 18% 15% 25% 24% 18%

Note: a<Age=b means Age belonging to group (a.b]
Sub questions

Question Number : 1 Question Id : 3421234676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the number of people in city-A belonging to the age group of (19-35] years is 31680, then how
many people are there in the age group of more than 60 years?

1.21120

2

. 24280
3. 23680

4. 19350

Question Number : 2 Question Id : 3421234677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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If the population of City-E in the age group of (0,13) vears is 16200, then the population in the
age group of (0,13) years of City-E is % of population in the age group of (13,19] vears of
City-E.

1. 60

ta
=]
h

4. 120

Question Number : 3 Question Id : 3421234678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the population of City-C and City-D in the age group of more than 60 vears is equal to 24000
each, then what is the sum of the total population of City-C and City-D?

1. 2.4 lakh

(]

. 2.8 lakh
3. 3.2 lakh

4. 4.8 lakh

Question Number : 4 Question Id : 3421234679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

It the population of City-A and City-B in the age group of (19.35] years are 17280 and 21120,
respectively, then what is the ratio of the total population of City-A to that of City-B?

L7223

I

.34

Question Number : 5 Question Id : 3421234680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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It the total population of City-B and City-E are 96000 and 130000, respectively, then the
population of City-E in the age group of (0,13] years is approximately % more than the
population of City-B in the same age group.

1.47.24

[

. 49.67

Tad
h
[
Tad
=Y

+
L
=
h

Question Id : 3421234675 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

frafafad arfdeT O uid i e A U E & felU gid {953 3gam &1 SHawe & Uidwrd( )
fqaRUT D G211 741 g | difcids] # fAU U 3fidhs! & SMUR U, Ul & IR Sifog|

STTEREAT B1 WER-dR fdR0T

9 gt o S faavu &1 ufawa
0=3Mg=13 | 13=HTG=19 | 19=3HG=35 | 35<HT=60 [ HTT=60
A 18% 12%s 24% 30% 16%
B 16% 18% 22% 29% 15%
C 20% 20% 20% 23% 15%
D| 15% 18% 21% 26% 20%
E| 18% 15% 25% 24% 18%

fequof. a=3Hg <b P mf%a?f (a.b] & Afgaal & 3.

Sub questions

Question Number : 1 Question Id : 3421234676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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e WE-AH 3 a1 (19-35] I8 & Hfadal Bl G=AT 31680 ¢, Al dgi W v Hfdkd 60 a8 U
3 g & g2

1.21120

I

. 24280
3. 23680
4. 19350

Question Number : 2 Question Id : 3421234677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ WY -E 1 (0.13] T o 311G 1 DI SIHEAT 16200 8 I, SR -E T (0-13) T4 G T Bl
ST RER E H (13-19) AU & AT T DI GTHIATHT % 8-

1. 60

B
=]
A

4. 120

Question Number : 3 Question Id : 3421234678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gie 60 a9 T it 1Y 97 T g ¢ AR e D DI SHEA], YD T 24000 8, A UG €
3R 2ER D DI Dl TGS DI TN R g2

1.2.4 cld

I

2.8 ¢ld
3.3.2 ¢4

4.4.8 ¢ld

Question Number : 4 Question Id : 3421234679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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fe WX A 3R UG B Bl 3R I (19-35] T4 P SHIEAT HHT: 17280 3R 21120 §. I AR
A S SR BT WG B DI g1 H T UM g2

L:i2:3

I

.34
3.4:5
4.5:6

Question Number : 5 Question Id : 3421234680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢ MY B 3R SR E DI Hol -G HHTT: 96000 R 130000 8. o U E H 3 T (0-

13] 9N B ST, THMH HGdH B G B DI STAERAT G T oo % (U B-

1. 47.24
2. 49.67
3.52.34
i e

Sub-Section Number : 2

Sub-Section Id : 342123190

Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 3421234681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following teaching techniques do not represent modern and ICT based teaching
method.

A. Recitation and Memorization
B. Flipped Classroom

C. Mind maps

D. Chalk and Talk Method

E. Gamification

Choose the meost appropriate answer from the options given below:

1. B and C Only

b2

.C and D Only
3. Aand D Only

4. D and E Only

Question Number : 6 Question Id : 3421234681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁﬁﬁ?ﬂﬁﬁﬁﬁ?ﬁﬁﬂ@ﬁﬁ%%ﬁ?&ﬂé 1. 21 ameTRd e &1 uaiRid g
Bl g2

A, TR UIS 3R $oR Al
B. [halts e
C. 7138 HY/ HFY HHEREAU
D. 9l US Tldh Ugid
E. THIMh I / Welldhul
A feu T fawedl § 9 o IR B 99 DIIT;
. HadB AR C
2. HAd C AR D
3. HAd A ARD

4. HadD AR E

Question Number : 7 Question Id : 3421234682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Concept Description

L A unit by which the course work 1s measured. It defines the number of hours

A | Academic vear | L 2 2 :
= of instruction required per week
8 | Credit Pomt I Papers taught under the programme duly defining the learning objectives and
outcomes

C. | Credit III. | Two consecutive (one odd and one even) semesters
D. |Course IV. | The product of grade point and number of credits for a course

Choose the correct answer from the options given below:

1. A-IIT, B-1I, C-IV, D-1

t-2

. A-IV, B-1, C-III, D-II

3. A-III, B-1V, C-1, D-II

4. A-1I, B-1II. C-1IV, D-1

Question Number : 7 Question Id : 3421234682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1D 1Y AT 11 D1 I Pifore

A |defreas | 1 | EPTE ST U ST SIS 8 1 $9H 0 e & o
HIGRg @ &l G- & Uel o uRHId forar ol &
B |pRedee | n W%ﬁ;ﬁmﬁ%ﬁu@éaﬁaﬁﬁwaﬂmaﬁmﬁwﬁmﬁﬁ
Hfse 1T | &1 AN (U [9uH 3R U 99) G- aiid Jeama
D. |uda®mn IV. | UTeumH & faU U8 tis= 3R Hige @& &1 Hwd

A faU U faded] § U It 3R &1 99 HIoIu:

1. A-IIIL, B-1I, C-IV, D-1

[

. A-IV, B-1, C-III, D-II

3. A-IIL, B-1V, C-1, D-II

4. A-II, B-TII, C-IV, D-1

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Question Number : 8 Question Id : 3421234683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What among the following cannot be treated as the role of a teacher?

A. To be strict and fair but not harsh

B. Openly criticize colleagues in public, especially in front of students
C. Hard working
D. Motivates students and encourages them

E. Reports theories and content but avoids explanation

Choose the most appropriate answer from the options given below:

1. Aand B Only

2. A, CandD Only

3.B, C and D Only

4. C.D and E Only

Question Number : 8 Question Id : 3421234683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad o O f6-d! g & YiteT & 3 o 981 A1 & Uddl 62

A. T 3R ¢ i Hh2 ol

B. UedhHdl &1 vl |, [9=19 U I f=nfial o THe 1< &l
c. Hegad!

D. faental & URd 3R Uidifgd &3 dra

E. (STl 3R f[audasd &1 9did ¢ i I9P] e H3- d §dd g
A fau U fadedl § U ¥8T 3R &1 994 DI

1.$dd A3RB
. Had A, C 3R D
3. $Hdd B, C 3R D

4.$HadC. D3R E

]

Question Number : 9 Question Id : 3421234684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI

Jackson's learning style

LISTII
Description

Responsible, rational learners, endowed with an urge to explore the

Achiever

A |High sensation seeker | L B :
= > world so that positive goals can be achieved
: Learns from their mistakes, possess a scientific, detached and

Goal oriented . . S ;

B i II. |autonomous learning stvle, processes information in an emotionally
intelligent-manner

Emotionally : ; ; ctesipy
C. : i III. | Gets involved in new challenging activities

Intelligent Achiever =
D Conscientious v One who sets learning goal which are generally hard and specific and

has confidence to achieve the goals.

Choose the correct answer from the options given below:

1

2

. A-II, B-III, C-1, D-IV
. A-IIL B-1V, C-11, D-1
. A-IV, B-1, C-1II, D-II

. A-I, B-1II, C-IV, D-II

Question Number : 9 Question Id : 3421234684 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1S 1Y &I 11 DT e Hifoy

g28.digialm.com/CAE/viewHtmIPDFAction.action

I I
w iR fags! fRremlf i ovg &1 @ie 39uv @ 98 8id1 6,
A |SE PRI | L | ora e da e for T 9|
AUt Tafaat @ died &, 399 ae dewy 3R o Sifie
B %ﬂ%@mmﬂ 1 %ﬁwﬁaﬁﬁwmnﬂwﬁéﬁfﬁgﬁiﬂaaﬁ%ﬂm
!
C Wﬁwfﬂm I11. | U gHidgef saar & gfffed g gl
5 . |58 =t vE aiftre g ffE| & 51 o 9. $ie- Sk Ry
D. | eI Sucliedd V- | S ¥ o oad 3 qiedl o i B A T FaTa el 2|
= fqu U fadeal § O 9gt 3R &1 99 DT

|

B

. A-IL, B-IIL C-I, D-IV

- A-IIL B-1V, C-I1, D-1

. A-IV, B-1, C-III, D-II

. A-I, B-1II, C-IV, D-II

Question Number : 10 Question Id : 3421234685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Which of the following are correct in the context of Artificial Intelligence as one of the
innovations in evolution system?

. It is a software system used for automated scoring

. “AI" technique is applied to learn how an instructor grades a problem/response

. It is the final authority about the student's performance

. The instructor evaluates a sample set of students responses and *Al’ system creates a
computer model incorporating rules inferred

E. Presently, most of the higher educational institutions in the country employ *Al” based

evaluation system.

Onm e

Choose the most appropriate answer from the options given below:

1. Aand B Only
2. A.Band C Only
3.C,D and E Only

4. A, B and D Only

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 12/139
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Question Number : 10 Question Id : 3421234685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el § U & ¥ fdbed Gelih--Uulel § U HaM6R & $U § iEhIR™d Sedlol-g
(PIEH i) & HeH H Tel ©-

A. U R GG (W1 & [T ITarT fdhdr S arel T HiiedaR gl
B. “U. 3115 UG &1 SN I S o forg faba ST g fob i Uiiero iy YR fabit
TY/ 3feha1 DI Yuiidhd Sl g
c. 3 faendf & ue=iH & aR ¥ (Huigs gam gl
D. W& faendf o ufdichar & ufdexl/ 9rdd Ue &1 Jedidhd HRdl g 3R T, {1 Yol
ST Al &1 gurafRid b de disd [Hid $d S|
E.%@ﬁ,ﬁﬁﬁ%@ﬁﬁ?ﬁf&ﬂ@@ﬁ"ﬂ 31 MUTRA Yot Wommel Wi
|

- feu e faseut # ¥ @7 IR &1 99 DI
1.Hdd A 3R B
2. HIAA, B3R C
3.$dd C, D 3ARE
4. HdAA, B3R D

Question Number : 11 Question Id : 3421234686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The process of telling research participants of any deception or ruses used in a study, is known as

1. Active deception

t-2

. Passive deception

3. Dehoaxing

=

. Desensitization

Question Number : 11 Question Id : 3421234686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AFYYH P HITERT B g H IUaNT ST 15 fH8! YA 34d 90 & IR H §dMH &
UfehaT el &-

L. O Yl
2. ST YA
3. SIgIaET

4. 3FHACIHRT

Question Number : 12 Question Id : 3421234687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In qualitative research, which of the following criteria is concerned with the question do
the findings apply to other contexts?

1. Transferability

f2

. Credibility

4

. Internal validity

4. Confirmability

Question Number : 12 Question Id : 3421234687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

D S H (afRad & 9 & 91 ards Uy 1 RO 3= HeHi & e
AR gld B, ¥ Hdfd 8o

1. 3fRuliadr
2. [aY e
3. 3R eyl
4. IR

Question Number : 13 Question Id : 3421234688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the datasets with following pairs of mean( ) and standard deviation (o) in increasing
order of their coefficient of variation.

14

Il
Il

2-8
1-5
2-1

Cnwp

= = = =
]

"-" q Cl q
]

9,
12
8,

Il

=1.2

Choose the meost appropriate answer from the options given below:

b BC D
i 0 £ Wl .
3.0, B, A

46, DA B

Question Number : 13 Question Id : 3421234688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

H1¢ (%) 3R AFS fade (o) & FEfeiad Siisl drel Sierdd & 3 fd=ror quid &
3RIS! ¥ H afRyd BT

.x =14,
X =9
x=12,
X =8

]
»

el 3R 1 94 DHIfIU:

3.D,B,C,A

4.C,D.A.B

Question Number : 14 Question Id : 3421234689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC regulations 2018 on plagiarism a faculty will be denied two successive annual
increments for which of the following similarities in research publications?

MmO 0w
=]
2
=]

52%
Choose the meost appropriate answer from the options given below:
1. A. B and E Only
2. B, C and D Only
3. A.B,Dand E Only

4. C and D Only

Question Number : 14 Question Id : 3421234689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yifgfde® IRT (WiERE) 1R g, S 9 a0 2018 & 2F9R, Y YbE §
frafeiRagd o 9 fod- gaMHdsi & fau fhdl S6rg 9ad oI &l Hife aitie da- gfadl
dfad foar Smemme

.42%
. 38%
. 76%

]

monNnwp 4

A fau U fasmedl § 9 ¥8T 3R 31 994 DI
. Hdd A, B3R E

. $HadB,C 3R D
3. HAAA.B.D3IR E
4. PadC AR D

f-2

Question Number : 15 Question Id : 3421234690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Type of variable Example
A | Nominal I. |Happiness level
B. | Ordinal II. |Height
C. |Interval III. |Blood group
D. |Ratio IV. | Year of birth

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

I

. A-II, B-1II. C-IV, D-1

3. A-III, B-1, C-1V, D-I1

4. A-IV, B-111, C-1, D-II

Question Number : 15 Question Id : 3421234690 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AT 1S 1Y &I 11 DT e Hifsy

1 g

T HIUPN Jale
A |sifea L Qe ®R
B. |HHYd® I (&= @

C. | 3R ndlkatrn
D. | U IV. |S @1 ay

A fGu U 9 edl § U Iot IR BT I999 BIIT;

1. A-I, B-II, C-III, D-IV

(B

. A-II, B-III, C-IV, D-I

3. A-III, B-1, C-1V, D-I1

4. A-IV, B-111, C-1, D-II

Question Number : 16 Question Id : 3421234691 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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First printing press in India was established at:

1. Goa

t2

. Kerala
3. Tamil Nadu

4. Bengal

Question Number : 16 Question Id : 3421234691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URd H ugdl Tl Uey Euerd &1 1941 gs A
BRI

A H

ISR

4. SA H

f-2

L

Question Number : 17 Question Id : 3421234692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The main purpose of establishing Television in India at the initial stage was:
1. News
2. Entertainment
3. Education and awareness among the rural population

4. Scientific development

Question Number : 17 Question Id : 3421234692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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R TR H HRA H gRGRA &I RITTHT ST I3 Ya1e UT-
1. GAER

HARSH

3. JTHIOT SRS H fRI&7T 3R S

4. AT fabr

f-2

Question Number : 18 Question Id : 3421234693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the sequence the 5 Cs (Elements) of communication

A. Compassionate
B. Curious
C. Compelling
D. Concise
E. Clear
Choose the most appropriate answer from the options given below:
1.A,B,C.,Dand E
2.B,A.C,D,and E
3.)EED.C.Band A
4.D,E.C,Aand B

Question Number : 18 Question Id : 3421234693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YUY & 5 Ul (Fohl) BT U1 3hH H AR DifeU

A. HUTFT (STTd)
B. FRIY (SRIN)
C. hUleHT (FIDRY)
D. ©d13Y (Hgd)

E. fael@R (W)

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.A,B.C.D.E

2B, A,CD E
S EDC B, A

4 D.E.C.A.B
Question Number : 19 Question Id : 3421234694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Basic factors of listening are:

A, Self interest

B. Speaker

C. Facts

D. Style of speaking
E. Atmosphere

Choose the meost appropriate answer from the options given below:

I.A. BandD Only

B

. A, Cand E Only
3.B. C and E Only

4. B. D and E Only

Question Number : 19 Question Id : 3421234694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A, 3T TSl

B. 9l

C.dw

D. dIp-2cil

E. URGRI/ SIdTaRl

i feu T fahedl § 9 a1 IR B 99 DIIT;
1.$Hdd A, B3RD

2. had A, C 3R E
3. Had B. C AR E
4. HAd B, D 3R E

Question Number : 20 Question Id : 3421234695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTI
Mass media Example
A |FM I. | The Trbune
B. |Newspaper II. |Rediff com
C. | TV Channel ITI. | Radie Mirchee
D. |Internet IV. |CNBC

Choose the correct answer from the options given below:

1. A-II1, B-11, C-1, D-IV
2. A-IIL, B-1, C-IV, D-II
3. A1 B-II, C-IV, D-IIT

4. A-11, B-1, C-III, D-IV

Question Number : 20 Question Id : 3421234695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

21/139



8/24/24, 12:28 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

AT 1S 1Y &I 11 DT e Hifoy

kS Sie
FTHER IGTEI00
Uh UH I |&fesgd

HHEN U . |3fE% BIF Rediff com
A dga | |[Yfefef

ELET IV. |9t o st i
Ard U U f[dahedl § 4 To1 SR BT 999 DIl

1. A-IIIL, B-IL, C-1, D-IV

olo|w|»

2. A-III, B-1, C-1V, D-II
3. A1, B-II, C1IV, D-IIT

4. A-IIL, B-1, C-III, D-IV

Question Number : 21 Question Id : 3421234696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The cost price of two articles is same, one of them is sold at a profit of 13% while the other one is
sold at a profit of 19%. If the difference between their selling price is Rs. 126, the cost of price of
each article is

1. Rs.1800
2. Rs.1900
3. Rs. 2000

4. Rs. 2100

Question Number : 21 Question Id : 3421234696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sl el & ANd qed G S | STH Y UD Dl 13 % & A Y Sdih GO Bl 19% H dH
ST SIIAT §1 4 3 fafhd Hea & S 3. 126 &1 2R &, d1 Ud® 9% &1 AT Hed -

1.%.1800

2.%.1900
3.°%. 2000
4.%.2100

Question Number : 22 Question Id : 3421234697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A ship is approaching towards a shore, when it is 32 miles from the shore, a plane having speed
15 times that of the ship is sent to deliver supplies. How far from sea shore does the sea plane
catches up with the ship?

1. 30 miles

I~

. 25 miles
3. 15 miles

4. 10 miles

Question Number : 22 Question Id : 3421234697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uch ST dc di 3R d¢ 381 ¢ | 9id 98 YHgdc U 32 Hid g2 ¢ o U 9y forgant 7ifd
ST ¥ 15 THT 31D . B el & faaRor & fag 31 S 81 §gde ¥ fbadl gl W

A g, S db Ugd Sei?
1.30 did

25 Hid
3. 15 Hid
4. 10 Hidl

[

Question Number : 23 Question Id : 3421234698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following fractions in increasing order-

Choose the most appropriate answer from the options given below:

.A,B,C,D
2.A,D,B,C
3. D,AB;C

4.B,D,C, A

Question Number : 23 Question Id : 3421234698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafad fial o SRigl H H orafed Sifsr-

KoL

11

11
B
c 2

13
p BB

21

1 fGU U fasedl # U g3l & 994 DIl

1.LAB.C.D
2A.D.B.C
3.D.A.B.C
4 B.D. C, A
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Question Number : 24 Question Id : 3421234699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the numbers that occur in the given series:- 0.3,10.21.36.......

Mo nwp
i e~ e B |
W O ND GO Lh
o L

Choose the most appropriate answer from the options given below:

1. A, B, Cand D Only

]

. B, C and E Only
3.C, D, E and A Only

4.D.E, A and B Only

Question Number : 24 Question Id : 3421234699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 T3l ol Ugd Hifeld §if &1 715 90f1 0,3.10,21,36,..... H 3mufi-

Lh
A

.78
.99
.. 105
. 136

-4 feu U fasetl # 9 @1 SR &1 99 ST
1.®dd A, B, C 3R D

HdAB.C3AR E

3.$HddC, D, E 3R A

4. HdAD,E. A 3R B

HUOwp

R

Question Number : 25 Question Id : 3421234700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII

Word Unique code
A |QUAKE . |QDBBI
B. |JOFTEN II. JEQIUFE
C. |PEACH 1. |[RTBIE
D. |IDRIVE IV |PEUDO

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

2. A-1l, B-1II, C-1V, D-1

3. A-IV, B-1, C-II, D-III

4. A-IIT1, B-1V, C-1, D-II

Question Number : 25 Question Id : 3421234700 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

il -1 6 91y Y11 31 firem sifere

LISTI LISTII
g fafere $c
A |QUAKE I |QDBBI
B.|OFTEN II. |JEQIUF
C. |PEACH III. IRTBIF
D |DRIVE IV [PEUDO
" fGu U f[9dedl # U I8t 3R &1 994 BIIU;

1. A-I, B-II, C-III, D-IV

2. A-11, B-IIT, C-1V, D-1

3. A-IV, B-1. C-II, D-III

4. A-III, B-1V, C-1, D-II

Question Number : 26 Question Id : 3421234701 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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What can be correctly claimed about the following?
“I ate because I was hungry”

1. Its an argument.

(]

. Its a Non-argument
3. Its a non-argument, it's an Explanation

4. Its a non-argument, it's an Illustration

Question Number : 26 Question Id : 3421234701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafeIRad a19d & 1olu 399 T &I 1 g1a1 Yl 62
<4 YIS fdoar ifd o oy a1

1. 4 U giak/dd §

2. U UH 3gfad/3idd §

3. 4 UD 3fad/3fdd g, Ug AT §
4. UD ffay/Hdd g, ug epid @

Question Number : 27 Question Id : 3421234702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Name the fallacy committed in the following:
“All the textbooks are books intended for careful study. Some reference books are books intended
for careful study. Therefore, some reference books are textbooks”

1. Fallacy of Illicit Minor

. Fallacy of Illicit Major

B

3. Undistributed Middle

o

. Fallacy of four terms

Question Number : 27 Question Id : 3421234702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frafeigd o gU US g &1 A 91

Ul UreaqRddy AHYdD I & YU H 91 Td 81 $2 YoH Txddh AMYdD

S & HYUE Y 4] Yedd ¢ 1"39eIU, & e J&dd Uléd Uk g |
 3fdY dY Ug gy

3{dY 7B Ug Iy

3. AT gd &N

4. IR UG BT AW

[a—

B

Question Number : 28 Question Id : 3421234703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the fallacy committed in the following:

EE)

“Ford cars are lemons. I have owned two and they gave me nothing but trouble™.

1. Inappropriate appeal to authority
2. False alternative
3. No fallacy

4. Hasty Generalization

Question Number : 28 Question Id : 3421234703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Frafaiad &3 H gU U dd &Y &1 UgaH DI ﬁ
“TpIS ST (@R) (/g 1 R UM &1 § 3R 3614 § ed & g faar g

1. DR 9 U S ugd Sdid
2. 7ard fadhed

3. ®ls db Gy el

4. TR FHATHRT

Question Number : 29 Question Id : 3421234704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is incorrect claim in the context of Vyapti?

1. For Carvakas, it is possible to ascertain that smoke is invariably and universally attended
with fire all the time

(]

. For Buddhists. the universal relation between smoke and fire can be ascertained even
without examining all the possible cases

3. For Vedantins, Vyapti between smoke and fire is known to co-exist and at the same time it is
never known not to accompany smoke

4. For Naivayikas, it is neither easy nor necessary for the formation of a universal proposition
to ascertain any relation of causality or identity between the two phenomenon

Question Number : 29 Question Id : 3421234704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e & Yeu # FufaRad # T &H 1 ara1 7Ted 22

 ARATDh! & o8 Tg 78 HRATHHT ¢ Tob Yait 3uikgrd sk wifdEe $u 9 ¥ed =i &
1Y JURRd glal g

il & oL, YU 37R 21 & oFd 9d Gy Ty o g grae § aieo foy 94T o gar
AT ST ghdi g |

- deli=al & feu, 4u 3R 31 & o9 A1t Ugadi ¢ 3R 1Y g1 d HHil 1t fo1 (i & g4
EARERIEIEIEIGIE

a1 & forg, g Uiasifd S & fau SFf uRuere & §id SIS gdd dde a1
UgdM & [HUTRT HA1 9 df ATH 3R A9 6l ad ol

—

f2

s

4=

Question Number : 30 Question Id : 3421234705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of sentence meaning relationship which of the following refers to 'Expectancy’

1. Asatti

f-2

. Akamksa

L

. Yogyata

=

. Tatparya Jaana
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Question Number : 30 Question Id : 3421234705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- 3 ey & e H Fafaied O 9 <uayuaed (U &1 ol |18
1. 3

. ATehie

3. g

4. IO {1

]

Question Number : 31 Question Id : 3421234706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If (L), 4 represents a number L in base - 16 number system, then (4AC) ¢ + (9BF )=

1. (E6B)1g

| ]

(ATBF)i¢

L

. (CFC)y5

4. (D68)1¢

Question Number : 31 Question Id : 3421234706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 99-16 3P UUMTell H (L);4 SRAT L DI USRId BIAT 6. Al (4AC);4 + (9BF) =

1. (E6B)g

2. (A7BF)¢

)

3 {CHO)sg

4. (D68)1¢

Question Number : 32 Question Id : 3421234707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Microsoft PowerPoint comes with several categories of built-in transition effects. Which of the
following is not a type of transition effect supported by Microsoft PowerPoint?

. Subtle

(]

. Speed
3. Exciting

4. Dynamic Content

Question Number : 32 Question Id : 3421234707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I [HIUe UraRulg fdee- ol yyId &1 3 4ol d oird g | Fafafad § § o
I ISl U HI3eh It grauie< gRT 9aidd UeR 8l g2

1. 9cd
2. WIg

3. Ui

4. SEHAMHD B

Question Number : 33 Question Id : 3421234708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Identify the correct order of the following computer storage capacities A-E from largest to
smallest capaity (1 K= 1024)

1000000 K Bytes
100000 M Bytes

1 T Bytes
10000000000 Bytes
100 G Bytes

mONnwp

Choose the meost appropriate answer from the options given below:

1.E,C,B,D,A
2.0, E. B, D C
3.D;C.E; B, A

4.C,E,B,D,A

Question Number : 33 Question Id : 3421234708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad SR WRE (USRI &Hd131 A-E ©f 949 3{U$ Y a4 S &HdI D Tl a H
IdfRYd PISTY(1 K= 1024)

1000000 fhcldISE (kBytes)
100000 HIT §13¢ (M Bytes)

1 é?lalﬂa (T Bytes)
10000000000 Bytes
100 G Bytes

A fGu U fadedl § 9 ¥8T 3R &1 994 DIoIU:

1.E,C,B,D, A

mon W p»

]

AE B D C

LS

D E B A

4. C,E,B,D,A

Question Number : 34 Question Id : 3421234709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In cloud computing, which of the following are the advantages of using cloud storage?

A. Data files of customers stores on the cloud can be accessed at any time from any device
anywhere in the world provided internet access is available.

B. There is no need for customers to carry an external storage device with them or use same
computer to store and retrieve information

C. If the computers have slow internet connection, then they would not face any problems
accessing or downloading their data files

D. Cloud storage is typically delivered by a cloud service provider

Choose the meost appropriate answer from the options given below:

1. A. Band C Only

t2

. A, B and D Only
3. Aand C Only

4. B and C Only

Question Number : 34 Question Id : 3421234709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Fellgs DT H Flds TRl & HEfaRad & o 9 a1y 82

A. T3S IR HSIRT Y| Bl STel- BISal ddb 5e-e bl Iudsdl giH IR fay R d dal
R i, Tl ot oy o off fSars g 9§ ugn ol 9adi 2 |

B. SHGRI &l HSTRA SR U: U $H- b [¢1U rgah| DI fhdl argl <R [Sargq rdl
J HR BT FTAN D B ARGl Tei gldl ¢ |

C. TS ATGD! BT ST HaRM H gl dl ITD1 (U1 SeThlgdl db Ugd U1 SISl

¥ H fbdl UL BT AT 981 HAT US|
D. T3S LR Bl USiUd U U Fell3s Hal Ualdl gRI UeH fbdl Sl |
e feu T 9l 7 9 FT SR D1 99 BIfST:
I.Hdd A, B 3R C
2. HdAA, B AR D
3. Hdd AR C

4. HAAB 3R C

Question Number : 35 Question Id : 3421234710 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI

Digital India Theme

LISTII
Purpose

Subscription-based scholarly information (e-books and e-journals) at lower

A |e-ShodhSindhu | L e

B. |e-Yantra II. |Robotics outreach project run by IIT, Mumbai

C. |e-Vidwan III. | Expert database and National Researcher's Network
D. |e-Kalpa IV, | Dagital-learning environment for design

Choose the correct answer from the options given below:

1. A-IV, B-11, C-III, D-I

]

. A-IIL B-I1, C-1, D-1IV

3. A-L, B-II, C-III, D-IV

=

.A-IL B-1V, C-1II, D-1

Question Number : 35 Question Id : 3421234710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ERINE eIl CANERIEEIELY

I I
UEIER)

A |£ vy " ;isga%-g? HIHTRT HEGRNE THBRI (3-G&dd AR 3 -S-eh) Tl &
ERE] 0. |31 3 & gus gRT I o <eT Asiiead Agedid Helde
s- fagH 111, | U0 STered 3R I3 =y Jedd

D. |- % 1v. | fafored i Tarde (3ffavms uRamn

" f6u U Al § U Tot 3R &1 I994 BIIT;

1. A-IV, B-11, C-III, D-1I

I

. A-IIL B-11, C-1, D-IV

3. A-L, B-II, C-IIL, D-1IV

4. A-II, B-IV, C-I1, D-1
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Question Number : 36 Question Id : 3421234711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The amount of rainfall required to saturate the soil is known as.

1. Field Capacity

(]

. Soil Moisture content
3. Soil Moisture deficit
4. Wilting Coefficient

Question Number : 36 Question Id : 3421234711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 &1 Yqwd B B (AT ATa=aS a9 B HHT B o-
1. e o YTRn

2. el 4! Dl |l
3. HeT AH AT
4. T1( T[0T

Question Number : 37 Question Id : 3421234712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Groundwater is specially prone to excessive hardness due to.

. Calecium and Sodinm 1ons

]

. Calcium and Magnesium ions
3. Sodium and Magnesium ions

4. Potassium and Calcium ions

Question Number : 37 Question Id : 3421234712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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19 &1 IUTUFA & BRI HITSTe [N ¥ e HERdl B Udf gldl ¢-
1. HicaH 3R WISy 3

 hicHTH SR HARIEH 3E

3. WIfSTH SR HifREy g

4. UIeRrgn SR Sfcam s

f-2

Question Number : 38 Question Id : 3421234713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following events in the order of their occurrence starting from oldest to the recent.
A. Bhopal gas tragedy
B. Fukushima disaster
C. Chernobil disaster

D. California Smog
E. London Smog

Choose the most appropriate answer from the options given below:

L.EE B A C
2.E;C.A,B.D
3B EAC B

4.E.D.A,B.C

Question Number : 38 Question Id : 3421234713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad ge-rs & 39 9ied gH & ®H H Tad UdF ¥ 3RY $Hd gU TdiHad ddb
AT BT

A. HIUTE T A1G1
B. BRI gl
C. Iifad g
D. hlhITa1 T (YH-HIgR)
E. ded ST (YHDIERT)
1 fGU U fasedl 7 U gt I &1 904 I

1.D,E, B, A C

b2

.E,C,A.B,D
3D EACB

4.E.D,A,B,C

Question Number : 39 Question Id : 3421234714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following National missions come under the National Action Plan for climate
change?

A. National Solar mission

. National Water mission

. National Green Hydrogen mission

. National Mission for Sustainable Agriculture
. National Mission on Sustainable Habitat

HON®

Choose the meost appropriafe answer from the options given below:

1.A. B, CandD Only

[

. B, C and E Only
3.C.D, E and A Only

4.D,E, A and B Only

Question Number : 39 Question Id : 3421234714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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%@Hﬁﬁﬁﬁmw,mmWWW(mmﬁm
87

A. TP IR el (AeR) e
B. IPT oid A=H
C. P A RS fHRH
D. IV SHEanil HeRufia HiY ffH
E. 191 afuaitl derofia qafarg frg=
A fau U fasedl # 9 ¥8T 3R &1 994 Dol
1.Hdd A, B, C 3R D
. Had B, C 3R E
3. $HddC. D, E 3R A

4. HddD.E.A3RB

b2

Question Number : 40 Question Id : 3421234715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
Organism Trophic Level
A |Lion I. | First Trophic level
B. |Trees II. | Second Trophic Level
C. |Fish III. | Third Trophic level
D. | Grasshopper IV, |Fourth Trophic level

Choose the correct answer from the options given below:

1. A-1, B-1IV, C-II, D-IIT

I

. A-IV, B-1, C-1II, D-II
3. A-1l, B-1II, C-1, D-IV

4. A-1I1, B-11, C-1V, D-1

Question Number : 40 Question Id : 3421234715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A =R L |gyn giel &R
B |3 11 | fercf o =R
C. |gadl 101 | it aret 'R
D. |fegi g | v | =g ot =R

Ard U U f[dahedl § 4 To1 SR BT 999 DIl

1

2

Question Number : 41 Question Id : 3421234716 Question Type : MCQ Option Shuffling : No

. A-L B-IV, C-I1, D-III

. A-IV, B-1, C-1II, D-II

. A-IL, B-III, C-1, D-IV

. A-IIL B-11, C-1IV, D-1

Correct Marks : 2 Wrong Marks : 0

According to National Credit Framework (NCrF). the credit level earned after obtaining

Bachelor's degree (three years of undergraduate programme) will be

I

[

Question Number : 41 Question Id : 3421234716 Question Type : MCQ Option Shuffling : No

7

h

h

h

h

Correct Marks : 2 Wrong Marks : 0
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PG hfSe BHID (NCrF) & 3FTIR Hdd &1 IUlfY (fhdt +it di a9 & sfszasue g
Tt B3 & U4Td 3ifSid hige B wR ghl-

S

]
LA
Lh

7S]
=)
L.}

e
h

Question Number : 42 Question Id : 3421234717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The acronym ‘APAR" for the student ID stands for:

1. Authentic Permanent Academic Account Registry
2. Automatic Personal Academic Account Registry
3. Automated Permanent Academic Account Registry

4. Authentic Personal Academic Account Registry

Question Number : 42 Question Id : 3421234717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

faerdf 3rs. 31 & e Tféd 919 -ApPAR/ THL U 3R, &1 Ui 419 8-
 SffeHfed Td T oD Ths—< Aol

3. e IR TS ldh THI3< o]
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Question Number : 43 Question Id : 3421234718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following flagship programmes in chronological order according to their years of
launch.

A. Naya Savera- Free coaching and Allied Scheme

B. USTTAD

C. Pradhan Mantri Jan Vikas Karyakram

D. Maulana Azad National Fellowship

Choose the most appropriate answer from the options given below:

1.D.AC.B

2.4, D, B.C

3.B.C.D.A

4. A.B,C.,D

Question Number : 43 Question Id : 3421234718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 44 Question Id : 3421234719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A major defect of the sargeant plan was

1. Integration of education with economic institutions

t2

. Emphasis on social sector
3. Too much importance to technical education

4. Highly selective admission to colleges

Question Number : 44 Question Id : 3421234719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 45 Question Id : 3421234720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following recommended the linkages of Universities with outside autonomous
research organisations?

|. Indian Council of Medical Research
2. Education Commission ( 1964-66)
3. Indian Council of Agricultural Research

4. Caleutta university Commission

Question Number : 45 Question Id : 3421234720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FafaRad @ 9 foa- fayfaereal & <1el [ Sy W61 & WY Yerddl & FmTRe
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1. YR fafd e sy uikeg
2. 2181 31T (1964- 66)

3. YR HiY 34 uRkeg

4. DI YT M

Sub-Section Number : 3
Sub-Section Id : 342123191
Question Shuffling Allowed : No

Question Id : 3421234721 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Assamese or “Asomiya’ is the most commonly spoken language in the state of Assam. Besides. it
also serves the purpose of a link language in the whole region. As a language, it is considered to
have evolve out of Magadhi, a form of old Prakrit language. However, on account of various
influences over the vears the language has come to acquire some variations in its form of speech.
These are called the groups of dialects of Assamese. Of these, the eastern group of dialects is
spoken mainly in the Sibsagar district and its adjoining areas. Similarly, the central group of
dialects is mostly spoken in the Nagaon district and the areas adjacent to it. In the west, on the
other hand, there are two distinct groups of dialects. These are called the Goalparia and the
Kamrupi groups.

Bodo or ‘Bo-Ro’ is another important spoken language of the state. It belongs to the Tibeto-
Burman language family and is mostly spoken in the areas coming under the Bodoland Territorial
Council, where it is the official language. By the 92nd Amendment of the Constitution of India
2003, Bodo has also become one of the 22 scheduled languages of the country.

Sub questions

Question Number : 46 Question Id : 3421234722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

From which language is Asomiva considered to have evolved?

1. Tibetan
2. Magadhi
3. Angika

4. Thai
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Question Number : 47 Question Id : 3421234723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which group of dialects is spoken in Sibsagar and adjoining areas?
1. Southern
2. Eastern
3. Western
4. Northern

Question Number : 48 Question Id : 3421234724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which groups of dialects are spoken in the western regions of Assam?

1. Goalparia and Dimasa
2. Kamrupi and Karbi
3. Goalparia and Nalbaria

4. Goalparia and Kamrupi

Question Number : 49 Question Id : 3421234725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the official language of the areas under the Bodoland Territorial council?

l. Rava

2. Asomiva
3. Bo-Ro
4. Garo

Question Number : 50 Question Id : 3421234726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the link language of the region as mentioned in the passage?

1. Asomiya

t2

. Bodo

3. Nagamese

o9

. Kamrupi

Question Id : 3421234721 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 3421234722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 47 Question Id : 3421234723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 48 Question Id : 3421234724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 49 Question Id : 3421234725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 50 Question Id : 3421234726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sociology
Section Id : 34212366
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123192
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3421234727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

K. Manheim states that idea emerge from specific sectors of the social world. Therefore, ideas
can be referred as:-

1. inherently limited, one-sided and distorted.
2. not limited inherently, multi-sided and distorted.
3. inherently limited, one-sided and not-distorted.

4. inherently limited, multi-sided and distorted.

Question Number : 51 Question Id : 3421234727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 3421234728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A social science having as its main focus the study of the social institutions brought into being by
the industrial transformations of the past two or three centuries... (it involves) a historical
anthropological and critical sensitivity. Who has explained this?

1. Edward Said

t2

. Michel Foucault

. Manuel Castells

L

4. Anthony Giddens

Question Number : 52 Question Id : 3421234728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 53 Question Id : 3421234729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In, ‘The Elementary Form of Religious Life’, Emile Durkheim refutes:-

. Comtelan epistemology as it is based on idealistic and aprioristic assumption.
2. Hegelian epistemology as it is based on idealistic and aprioristic assumption.
3. Weberian epistemology as it is based on idealistic and aprioristic assumption.

4. Kantian epistemology as it is based on idealistic and aprioristic assumption.

Question Number : 53 Question Id : 3421234729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :
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Question Number : 54 Question Id : 3421234730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

G. H. Mead defines °I” as the:-

1. incalculable, unpredictable and creative aspect of the self.

]

. calculable, predictable and non-creative aspect of the self.
3. calculable, unpredictable and creative aspect of the self.

4. incalculable, predictable and creative aspect of the self.

Question Number : 54 Question Id : 3421234730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 55 Question Id : 3421234731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Phenomenological approach of Alfred Schutz refers to *life world” as-

1. “taken-for-granted’ and not based on 'mundane reality'.

t2

. “taken-for-granted’ and based on 'mundane reality'.
3. not ‘taken-for-granted’ but based on 'mundane reality'.

4. not “taken-for-granted’ and not based on 'mundane reality'.

Question Number : 55 Question Id : 3421234731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 56 Question Id : 3421234732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the following thinker saw modernity as an ‘unfinished project’?

1. Anthony Giddens

t2

. Manuel Castells
3. Jurgen Habermas

. Michel Foucault

o9

Question Number : 56 Question Id : 3421234732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 57 Question Id : 3421234733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Manuel Castells, the rise of the new global informational economy is accompanied
with emergence of a new ‘network enterprise’. Which among the following is not the
characteristics of the network enterprise?

1. A flexible production and new management

[

. An organization based on horizontal model.
3. An organization based on vertical model.

4. The fundamental component of organization is a series of network.

Question Number : 57 Question Id : 3421234733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 51/139



8/24/24, 12:28 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

U S & 3IUR, TP U Hcddh 3T & Iad & 1Y Udh 141 di¥d GaIdd
IR HT 37 gidl o| Fufaad & § $19 91 Fedd a8 &7 9501 18 Har

1. Ush oIdicl TG &1 941 Ua=H
2. 8IS UfdReg TR 31T U T
3. SR Ui U 34T Udh T8

4. T3 B SYRYI Ted Heddh P Uh Y@l g

Question Number : 58 Question Id : 3421234734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is not true about Weber's notion of *Verstehen'?

1. Verstehen is a rational procedure of study.
2. Verstehen is simply the use of ‘intuition’ and sympathetic participation by the researcher.
3. Verstehen involved doing systematic and rigorous research.

4. Weber's thoughts on “Verstehen’ were derived from a field known as hermeneutics.

Question Number : 58 Question Id : 3421234734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 59 Question Id : 3421234735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Following table presents frequency distribution of weights of 265 male students.

Class Interval (weight) | Frequency
90-99 1
100-109 5
110-119 9
120-129 30
130-139 42
140-149 66
130-159 47
160-169 39
170-179 15
180-189 11
190-199 1
200-209 3
N= 265

g28.digialm.com/CAE/viewHtmIPDFAction.action

What is the Mean (¥ ) of weight of male students?

1.138.5

| ]

. 148.74

3.168.75

4. 198.75

Question Number : 59 Question Id : 3421234735 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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fafafad grol 265 faanfdgl (qew) & a9 & SM1gfi AU &f g2idl ¢

Syoft SfaRTe @) | <mafa
Q0-99 1
100-109 1
110-119 =
120-129 30
130-139 42
140-149 66
150-159 47
160-169 39
170-179 15
180-189 11
190-199 1
200-209 3
Dd 265
Sl & 9o &I 3119d 91 °e (3 ) 1 BIP

1. 138.5

2. 148.74

3.168.75

4. 198.75

Question Number : 60 Question Id : 3421234736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the purpose of a research is to test a hypothesis of a causal relationship between variables,
which of the following research design is most suitable for such a research study?

1. Formulative Research Design
2. Descriptive Research Design
3. Experimental Research Design

4. Diagnostic Research Design

Question Number : 60 Question Id : 3421234736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 61 Question Id : 3421234737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term used to refer to simple counts of the frequencies with which the various categories in
each set occur in the data is referred as

l. cross-tabulation

f2

. coding
3. Marginals

4. totalling

Question Number : 61 Question Id : 3421234737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gt & fq=elyor § fafirs 40R & 91y g3 94g © Uuls - dicil Sfgidl & JIURu UM &
feTe for s ug &1 ST faa ST 82

1. Hehx ARG
2. BIfST

3. i

4. 913

Question Number : 62 Question Id : 3421234738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The origins of hermeneutics philosophy in the modern age are most appropriately attributed to

1. J. S. Mills
2. Harold Gartinkel
3. Schleirmacher

4. Robert K. Merton

Question Number : 62 Question Id : 3421234738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 63 Question Id : 3421234739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The simplest possible measure of dispersion which is defined as the difference between the
values of the extreme items of a series is called

1. Mean
2. Median
3. Range

4. Mode

Question Number : 63 Question Id : 3421234739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 64 Question Id : 3421234740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If we add “measurement error’ or “non-sampling error’ to “sampling error’, we get

1. Frame Error

t2

. Total Error
3. Chance Error

4. Response Error

Question Number : 64 Question Id : 3421234740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 65 Question Id : 3421234741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who is the author of the book *Tribe to Empire’?

1. Emile Durkheim
2. A. Moret and G. Davy
3. H. Spencer

4. F. Tonnies

Question Number : 65 Question Id : 3421234741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 66 Question Id : 3421234742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The distinction between “culture” and “civilization’ can be recognized by distinguishing between
‘material’ and 'non-material culture'. Who is associated with this?

1. A. Weber
2. Arnold Toynbee
3. R. M. Maclver

4. Irving Hallowell

Question Number : 66 Question Id : 3421234742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 67 Question Id : 3421234743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who coined the term ethnocentrism?

1. W. G. Summner
2. E. Gellner
3. L. Kuznar

4. E. B. Tylor

Question Number : 67 Question Id : 3421234743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 68 Question Id : 3421234744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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*A social structure that organizes the residence and activities of people in physicals space’, is
known as

l. group

(]

. community
3. society

4. association

Question Number : 68 Question Id : 3421234744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 69 Question Id : 3421234745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is not the spokesman for cultural determinism?

1. E. B. Tylor

]

.A_ L. Kroeber

3. R. M. Maclver

e

. Leslie Whyte

Question Number : 69 Question Id : 3421234745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 70 Question Id : 3421234746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who gave examples of developed systems of administration of justice, particularly among
African Negroes?

1. R.H. Lowie
2. Max Gluckman
3. B. Malinowski

4. Max Weber

Question Number : 70 Question Id : 3421234746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 71 Question Id : 3421234747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who argued that urbanism promotes diverse sub cultures rather than submerging everyone within
an anonymous mass?

1. Fischer
2. David Harvey
3. Manual Castells

4. Louis Wirth

Question Number : 71 Question Id : 3421234747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fho gg ddb fean fd wgdidarg Udd &1 U o[iTd SH99g H fA99 34 & -IH W fafdy
SUEED Yl &1 HidIigd Rl g2

L. R

2. Sfas grdf

3. B0 HRCeH
4. ds fad

Question Number : 72 Question Id : 3421234748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term refers to movement away from a residential location either within the same country or
to another country.

1. Immigration
2. Emigration
3. Migration

4. Forced migration

Question Number : 72 Question Id : 3421234748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 73 Question Id : 3421234749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following is not associated with “The Chicago School™?

1. Robert Park
2. Ernest Burgers
3. Ferdinand Tonies

4. Louis Wirth

Question Number : 73 Question Id : 3421234749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 74 Question Id : 3421234750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who is associated with the concept of “humane city’?

. Richard Sennett

2. Manual Castells

L

. John Betjeman

4. Paul Harrison

Question Number : 74 Question Id : 3421234750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fraferad # 9 B -AFdIfId T63 B S[AYRI & G Te 67
1. RS de
2. OUd hReeH
3. S geolid
4. et gRE

Question Number : 75 Question Id : 3421234751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who has theorized the triumph of capitalist democracy in the Cold War - and thus the ‘end of
history’?

1. M. Foucault
2. Francis Fukuyama
3. Daniel Bell

4. Anthony Giddens

Question Number : 75 Question Id : 3421234751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 76 Question Id : 3421234752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A state expressing. in a variable geometry, the aggregate interests of its constituent members is
called

[—

. Nation-state

2

. Capitalist state

[V

. Super nation-state

4. Estate

Question Number : 76 Question Id : 3421234752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 77 Question Id : 3421234753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Who has used the term 'polyarchy'?

l.R. A. Dahl
2. G. Mec Lennan
3. J. Tronto

4. A. Smith

Question Number : 77 Question Id : 3421234753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UTeftefebt () Wea BT Wl febeH fohar &2
. 3R. T, Sigal
2. Sff. Heel
3. 9. 2Tl

4.0 Y

Question Number : 78 Question Id : 3421234754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who refers to two useful concepts in regard to community power structure namely ** power pool”
and “power dispersion”?

1. T. K. Oommen
2. ML.N. Srinivas
3. 5.C. Dube

4. Rajni Kothari

Question Number : 78 Question Id : 3421234754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 79 Question Id : 3421234755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Poverty exists because poor people serve useful functions for society’. Who 1s associated with
this statement?

1. Herbert Gans
2. Barbara Ehrenreich
3. Banfield and Lewis

4. Oscar Lewis

Question Number : 79 Question Id : 3421234755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. g M

2. SRR UG
3. THBIE 3R dfdy
4. 3R dfdd

Question Number : 80 Question Id : 3421234756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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*Capitalism produces wasted population not just the poor and refuges but huge prison populations
and other outsiders.” Who is associated with this statement?

. Judith Butler

(]

. Zygmunt Bauman

ad

. Giorgio Agamben

4. Chrystia Freeland

Question Number : 80 Question Id : 3421234756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uoflarg o7 S=Raat &l 574 <dl g, = dad (e iR 2Rundf dfesh 931 dvea § dfedl sfiR
31 ARl B a1l 39 HYT Y &I iaiEId g2

1. Sy deeR

2. formHe |fe

3. SIfST ST
4. fofear isdvs

Question Number : 81 Question Id : 3421234757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is not the characteristics feature of indigenous knowledge?

1. Embeddedness of knowledge in the local cultural milieu.

[

. Boundedness of local knowledge in space and time.

P8

. Proper separation between nature and culture

4. A non-instrumental approach to nature

Question Number : 81 Question Id : 3421234757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 82 Question Id : 3421234758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is not correct about consumerism?

1. Mass production must be accompanied by large scale consumption

t2

. Consumerism Is also a way of thinking. a mentality.

L

. Consumption is independent of economic development.

i

. Consumption patterns can damage the environmental resource base and exacerbate pattern
of inequality.

Question Number : 82 Question Id : 3421234758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SUHITaTE & fawg | fHafciRad J 9 &1 91 98l 781 82
S IdTGH & WIY-H1Y §8 U0 W SUHRT 41 gH1 =@1fgy
- JUHIGTAIG [ &1 Ub AN, T ARG H g

3. JUHIT 31 fghrd IR F1HR g1 el

4. SUHNT Ui UaTaR v Ha1e STURI oI &fd Uga1 Tdhd o SR SEHHdl & Ufdeul
&l &R 911 Gobdl g

—

B

Question Number : 83 Question Id : 3421234759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the following is not true about the ‘International Treaty on Climate Change’ - the
Kyoto Protocol?

1. It was signed in 1995

(]

. The developed countries agreed to cut their emissions by an average of 5.2% over 1990
level by the period 2008-12.

3. It also initiated the Clean Development Mechanism (CDM)

+

. The CDM allowed industrial countries to get credits to put towards their Kyoto targets by
funding clean energy projects in developing countries

Question Number : 83 Question Id : 3421234759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 84 Question Id : 3421234760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is not true about Common Property Resources (CPRs)?

1. These are the resources accessible to the whole community of a village

t-2

. on these resources some individuals have an exclusive property right

3. some of the examples of these resources are village pastures, waste dumping places,
community forests, village ponds, tanks, rivers/rivulets

4. Common Property Resources are declining in India after independence

Question Number : 84 Question Id : 3421234760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 85 Question Id : 3421234761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is the author of the book ‘A Philosophy of NEFA’

1. Virginius Xaxa

t2

. Surajit Sinha
3. M. N. Srinivas
4. Verrier Elwin

Question Number : 85 Question Id : 3421234761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 86 Question Id : 3421234762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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C. Von Furer - Haimendorf studied intensively the family structures and cultural life of Nagas.
Which group of Naga did he focus in his study?

1. The Ao Nagas

(]

. The Konyak Nagas

ad

. The Tangkhul Nagas

4. The Angamis

Question Number : 86 Question Id : 3421234762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 87 Question Id : 3421234763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'"Technology is socially shaped' - which among the following is not correct about this statement?

1. Technological change is conditioned by social factors.

[

standard of scientific technological rationality.

3. Technological change follows a fixed. linear path, which can be explained by references to
some inner technological logic.

4. Technological change involves controversies, disagreement and difficulties that engage
relevant social groups in strategies to shape technology.

Question Number : 87 Question Id : 3421234763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 88 Question Id : 3421234764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is not true about the first generation “cyber crimes’?

1. use of computers to assess traditional type of offending.

]

. Finding information on how to build weapons or bombs may be easier on the internet but
there have been and still are, conventional sources available.

3. First generation cyber crimes were ‘hybrid’ traditional offences but within a new global
network environment.

4. Drug dealers employ whatever forms of communication exist and, even in the absence of
computers, would continue to buy or sell drugs.

Question Number : 88 Question Id : 3421234764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 89 Question Id : 3421234765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

Social constructionist theorists reject biological basis for gender differences. According to these
theorists-

1. Gender identities emerge in relation to perceived sex differences in soclety and in turn help
to shape those societies.

2. Gender identities partially emerge in relation to overall sex differences in society and in turn
help to shape those societies.

3. Gender identities do not emerge in relation to perceived sex differences in society and in
turn help to shape those societies.

4. Gender identities emerge in relation to perceived sex differences in society but in turn do not
help to shape those societies.

Question Number : 89 Question Id : 3421234765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 90 Question Id : 3421234766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to R. K. Mukherjee, Indian culture is very well blended with various religious texts.
He emphasises that the spirit of tolerance of diversities is reflected in-

1. Rig Veda

2

. Atharva Veda
3. Arthasastra

4. Dharmasastra

Question Number : 90 Question Id : 3421234766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 91 Question Id : 3421234767 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Arrange the following research activities of a research project in a chronological order

A. Writing of the Report

B. Formulation of Research Problem

C. Administering an interview Schedule
D. Selection of the sample

E. Tabulation of Data

Choose the correct answer from the option given below:
1.D,C,E B,A
22D.B,C.E. A
3B C, DL E A
1+.B.D.C.EA

Question Number : 91 Question Id : 3421234767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.D,C,E,B,A
2.D,B,C,E.A
B enEX

4.B,D,CE, A

Question Number : 92 Question Id : 3421234768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 76/139



8/24/24, 12:28 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Arrange the following sociological works on modernity in a chronological order of their
publication.

A. The consequence of modernity (Anthony Giddens)
B. Liquid modernity (Zygmunt Bauman)

C. Risk Society: Towards a New Modernity (Ulrich Beck)
D. Facing up to Modernity (Peter L. Berger)
Choose the correct answer from the option given below:
1.LAB.CD
2.B,C,D,A
30,6 4.8
4.C,D.B,A

Question Number : 92 Question Id : 3421234768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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D. BT 3y ¢ GisfHd (dier Ud. I7R)

i feu U fadh el § 9 a1 3ITR &1 98- DIfIT;

1.A,B,C.D

2.B,C,D. A
3.D,C,AB

4.C,D,B,A

Question Number : 93 Question Id : 3421234769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following sociological works on 'Post Modernism' in chronological order of their
publication.

A. The Condition of Postmodernity (D. Harvey)

B. The Postmodern Condition (J. F. Lyotard)

C. Postmodernism, Reason and Religion (E. Gellner)
D. Images of Postmodernism Society (N. K. Dezin)

Choose the correct answer from the option given below:

1.D,B,A,C

b2

G D By A

3.JAB.C.D

4.B,A,D,C

Question Number : 93 Question Id : 3421234769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3.JAB.C.D

4.B,AD,C

Question Number : 94 Question Id : 3421234770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following sociological works on social stratification in chronological order of their
publication.

A. Social Class and Stratification (P. Saunders)

B. Social Class in America (L. Warner)

C. Political Power and Social Class (N. Poulantzas)

D. Class and Class Conflict in Industrial Society (R. Dahrendorf)

Choose the correct answer from the option given below:
1LARBCD
2.B,D,C,A
3.C. B, A,D

4.0, CBA

Question Number : 94 Question Id : 3421234770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4.D,C,B,A

Question Number : 95 Question Id : 3421234771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following sociol revolutions in chronological order of their occurance.

A. Information Technology Revolution
B. French Revolution

C. Bolshavik Revolution

D. Palace Revolution

Choose the cerrect answer from the option given below:
1.D.A,B.C
28 B.CD
3B C: 4D

4.C,B,D, A

Question Number : 95 Question Id : 3421234771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafcfad gmiisie sif<rl ©f 34d gied giH & diadidsd § dafid HifS:

B. ThIuNd pifd
D. Uc ®ifd
A f6u U A eul § O gl IR &I 994 HIIU:

|.D,A,B,C

A, gdAT U] sifd
C

2.8 B.C. D
3B, C.A,D

4.C,B,D, A

Question Number : 96 Question Id : 3421234772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following works on *gender studies’ in chronological order of their publication.

A. Masculinities (Raewyn Connel)

B. Sexual Behaviour in the Human Male (Alfred Kinsey)
C. The Transformation of Intimacy (Anthony Giddens)
D. Paradoxes of Gender (Judith Lorber)

Choose the cerrect answer from the option given below:

1.B.C,D,A

2

CoBA D

(VS

- A;B; D, C

4.D,C, B, A

Question Number : 96 Question Id : 3421234772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i srezgl W fordl 75, R feiRad Ta-1sil &1 3d U1 & dIdhd § Iaiyd &i-

A. BRI (69 D)

B. Yag e fdgfdur 3+ & ggr- Ad (3cdh s fdoih)
C. & -G IHTA 3 3w (T fidw)

D. IRTSIAY 3Hh 5= ($fSY dleR)

A fGu U fadedl § O ¥8T 3R &1 994 DIfoIu:

1.B.C. DA

[

JC.B. A8 D

ad

A, B, D, C

4.D,C.B,A

Question Number : 97 Question Id : 3421234773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following regulations in the chronological order of their vear of enactment

A. Child Marriage Restraint Act

B. Prohibition of Female Infanticide Act
C. Hindu Gains of Learning Act

D. Age of Consent Act

E. Bengal Sati Regulation Act

Choose the correct answer from the option given below:

1.D,B,E,C,A

b2

DAL E B C
3. E, DB, BAC
4. E.B. D C.A

Question Number : 97 Question Id : 3421234773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafeRad eaa! & 39d AEFgHT & 9 & HH H Hdied Difou.

A. 919 fqare fa=ie sifafrm
B. IR gt fHue sffefrgm
c. g faen witg sifefagy
D. GgHdl &l 31y gy
E. 5711 Yl 9 sy

4 fau U fasedl § 9 ¥8T 3R &1 994 DI

1. DB B &

t2

.D,ALE,B,C
L. E DB A C

4. E;:B. D). C. A

Question Number : 98 Question Id : 3421234774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following regulations in the chronological order of their year of enactment

A. Hindu Woman's Separate Residence and Maintenance Act
B. Parsi Marriage and Divorce Act

C. Caste Disabilities Removal Act

D. Indian Divorce Act

E. Hindu Inheritance (Removal of Disabilities) Act

Choose the correct answer from the option given below:

1.C,D,B.E, A

b2

CBDLE A
3.D,CEAD

4.B,D.A.C.E

Question Number : 98 Question Id : 3421234774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafeRad eaa! & 39d AEFgHT & 9 & HH H Hdied Difou.

A. Teg & gy [amy 3R &1 sifef4aq
B. Ul fqdTg 3R dalieh 3ifefaam

C. ST 3{RIaddr 33 AfU-gq

D. HRAIT ddld gy

E. fe~¢ SRS (e=raddl 3=]a) fufgn

4 fau U fasedl § 9 ¥8T 3R &1 994 DI

LGB E A

t2

CB.D.EA

3.D,C,E,A,D

4.B,D,A,C.E

Question Number : 99 Question Id : 3421234775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following in chronological order of their publication

A. Models of Democracy (III Edition) (David Held)

B. Understanding Social Movements (Greg Martin)

C. Political Ideologies: An Introduction (5th Edition) (Andrew Heywood)
D. Power: A Radical View (Stephen Lukes)

Choose the cerrect answer from the option given below:
1.D.A.C.B
2.B.D,CA
3.C.,B,D. A

4. A,B,C,D

Question Number : 99 Question Id : 3421234775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafciad @l UHRH & SidHsY § HdYd DI

A. TS 3H1h Ul (SfdS T@)

B. ST I FaH ey (I wicH) )

c. Uifdiiedhd sefSardrsisl: U Scigar (U8 UH (UsY 9ds)
D. UldR: UfSdhd o (T gdd)

A feu U fadedl § 9 ¥8T 3R &1 994 DIfoIu:

1.D.A.C.B

2.B,D,C, A
3. C.B. DA

4 A B.C,D

Question Number : 100 Question Id : 3421234776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Arrange the following works on “Family and Intimate Relationships™ in chronological order

A. A Sociology of Family Life (Deborah Chambers)

B. Rethinking Family Practices (David H. J. Morgan)

C. Families in Today's world (David Cheal)

D. The Changing Experience of Childhood (C. Smart, B. Neale, and A. Wade)

Choose the cerrect answer from the option given below:
1.C.D.AB
205 B B
3.B.C.D. A

4.D,C, B, A

Question Number : 100 Question Id : 3421234776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

.z.ﬁ 3R 9y e IR fordl 12 Fgfeiad Tarei & S iie U 9 Hafed

A. 3 TIrClsi 3HTH Bl dish (S9R1E 9ad)

B. R Bitrcl Ufdeys (Sfds wa. . A1)

c. Bbifelis 34 2w aes (Sfds i)

D. & dfoi’ UaUIRAY 31t dI3esgs (dl. Wid, d 4ld 3R U 93)

4 fau U fasedl § 9 ¥8T 3R &1 994 DI

1.C,D.A,B

2.AD.8B.C
3.B,.C.,D.A

4.D,C,B,A

Question Number : 101 Question Id : 3421234777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Marxian Dialectics 1s based on the ideas of:

A. Dialectical analysis does not see a simple, one-way, cause and effect relationship among the
various parts of the social world.

B. Dialectical analysis is based on social values that are not separate from social facts.

C. Dialectical Analysis focuses on relations within and among various aspects of social world.

D. Dialectical Analysis has relation only with the material world and not the social world.

Choose the correct answer from the option given below:

1. A and E only
2.B, C and E only
3.A.Band C only

4. C and D only

Question Number : 101 Question Id : 3421234777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR Pl gg Ugid (9 faaRT or eiRkd &

A. Gald D [d=eIN0 YT SITTd o faiie Uil & did Udh IR, Th-AFI RO 3R
JHE-G=I &1 Tl oad]|

B. gl [qIy0 9ol Tedl U S11Rd © Sl fdb graifoid a2l O gysh-i1g el g

& ﬁ@;ﬁ?&ﬁw HHISIS SRTd & (a9 Uell & 79 3R HidR & =l IR &H dlad
Bl g

D. Graldd (AU &I Yra=l dhdd Hifddh SiTd ¥ g = T FHIfSId SHTd 9|

- feu U faseut 7 ¥ #1 IR 1 99 DI
1. Hdd A 3R E
2. Hdd B, C 3R E
3. ®dd A, B3R C
4. 9Hdd C 3R D

Question Number : 102 Question Id : 3421234778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the following are correct about Parsons' notion of socialization?

A. In the socialization process norms and values of a system are internalized and become part
of the actors conscience.

B. Socialization is a conservative process in which need dispositions bind children to the social
system.

C. Parsons sees socialization as a life long experience.

D. In socialization process, there is little or no room for creativity.

Choose the correct answer from the option given below:

1. A, B, D only
2.B,C,Donly
3.A B, Conly

4. A, B, Cand D only

Question Number : 102 Question Id : 3421234778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TATSH®HR0] &1 TR D1 ROT & Yao H 9 H 4 H-DH Tol o2

A. GHATSITHRO &1 Ufdhan H a1 & AHS! d Hedl &1 3MEaiidol gidl § 3R d dafsi
@ 3fdl: BRI DT YT & SId B

B. GUSIHRU] Ueb UR&UT 1 Ulchal ¢ FoTH Siawadhal fadgit s &l Yo oaw
Y e $HR Wl §

C. ORI YHTSIHR0 &l U Siiad Gd 3Hd & U H ¢adl o

D. GHTSHRY] B UichdT H T-TIIed] & foU iy 3iydl dis Wi Jog 2 1ol gidl o

A feu T fawedl § 9§ 3T IR B 99 DIIT:
|.%dd A, B, D

2. Hdd B.C.D
3. HAd A, B. C

4. PddA,B.C&D

Question Number : 103 Question Id : 3421234779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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which of the following premises characterize the dramaturgical school of interactionism?

A. Focuses on the ways that actors manipulate gestures to create an impression in a particular
social scene.

B. Emphasizes on the process of impression management and not the purposes or goal toward
which action is oriented.

C. Focuses on the goal orientation and particular structures which create different forms of

interaction.
D. Emphasizes on the form of interaction itself rather than on the structures it creates, sustains

or changes.
Choose the correct answer from the option given below:

1. A.Band C only

]

.B and C only
3.A,Cand D only

4. A, B and D only

Question Number : 103 Question Id : 3421234779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFAfcIRad H T & iF Ol TIRBIT 3=d: hararg i Aleddhdl ARAT & f [dRAYdrd g2

A. 34 Taf90 IR &H higd Sl g o gH T {929 Imeie ©xg § 9hd YHd Bl &
ferg gra-HIg H gR-R PR ¢

B. U9 e~ ©I Uichdl TR 9 <l g 7 b foban 919 SR S § 39 Ie37 11 7ed ||

C. &g HYYEdr 3R fafRy G131l U &4 di-gd Hdl g Sl 3f=:idbal & fid W=af
D1 I Bl g

D. (Hd, 91 g3 2R uRafdd dxamrei &1 qa- 8 o=1:fha1 & Wy R W 9 9d &dl g

- feu U faseut 7 ¥ F1 IR 1 99 DI
1.Bdd A, B3R C
2. HddB 3R C
3.HAd A, C 3R D
4. HdAdA, B3RD

Question Number : 104 Question Id : 3421234780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 88/139



8/24/24, 12:28 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Which of the following are the characteristics of a good sample design?

A. It must result in a truly representative sample

B. It must be such which result in a small sampling error.

C. It must be viable in context of funds available for the research study.

D. It must be such so that systematic bias can be controlled in a better way.

Choose the coerrect answer from the option given below:

l.A. B and C only

f2

. A, B, CandD only
3.A.Cand D only

4. B, C and D only

Question Number : 104 Question Id : 3421234780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeiad H ¥ oI I 3= dfde™l siffdhed o1 fagieran ¢

A. 3P IR dRdids gfafafies ufaesl g aige

B. U8 34 UPR gHI A1 fh o gRumRas=y 4 ufde=i=a= 3fe gl

C. Tg MY 3T & fole Iuasy (1Y & g § sgagr] giH1 91igy

D. 4g 34 UDHR gl difgU {d Uuriciid Yaidg &l Ush =3l fafy 9 fdfd fdbar o 9

-4 fau e fasett # U FT IR &1 99 DI
1.Hdd A, B3R C
2. $hdd A, B, C 3R D
3. $had A, C 3R D
4.%dd B, C 3R D

Question Number : 105 Question Id : 3421234781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following are the characteristics of an ordinal scale ?

A. It places events in order
B. There is an attempt to make the intervals of the scale equal in terms of some rules
C. Rank orders represents ordinal scale and used in relating to qualitative phenomena
D. Ordinal scale only permits the ranking of items from highest to lowest.
Choose the cerrect answer from the option given below:
l.A. B and C only
2. A.Cand D only
3.A.B.CandD only

4. B, C and D only

Question Number : 105 Question Id : 3421234781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad 9 9 ©H 9 od Yadb 9qH] o fa=ivdid g2

A. g "1 &1 Hifd T4 9 RH [H4iRd ddl g

B. $9 [0l & g1 T U0 & 3fRIal &l YU B 61 Y41 gldl ¢

5% ?ﬁﬁ?u HIYED UHTH D1 USRI R ¢ SR oD TR & < § i fdhu

|

D. hHYdd UHH G¥g 3l 7Sl & Iddd I Fgda § Sifedhd FMyRur ot safd <d g
A fqu U [qaedl § 9 g7 IR &I 999 DIfIT:

1.Hdd A, B 3R C

2. had A, C 3R D

3. Hdd A, B, C 3R D

4. Hdd B, C IR D

Question Number : 106 Question Id : 3421234782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Important characteristics of Estates were
A. each Estates had a status.
B. The Estates represented a broad division of labour.
C. the Estates were a political group.
D. All Estates had an equal status.
Choose the cerrect answer from the option given below:
1. A only
2. A.Band D only
3.A.Band C only

4. C and D only

Question Number : 106 Question Id : 3421234782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U HaRT B Hgwdyu! [a2erar off-

A Ul T &1 U 939 Ug ]|

B. U ¢ 4 91 & dgd faureH &l ualRid fean
C. UXT U ASHiidd g i)

D. YHl T &1 YHME UG ol

-4 fau U fasett # ¥ FT IR &1 99 DI
1. hdd A
2. Had A, B AR D
3. HadA, B3R C
4.Had C 3R D

Question Number : 107 Question Id : 3421234783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In addition to feeding themselves. peasants use the rest of the produce to create three different
funds

A. Ceremonial fund

B. The replacement fund
C. The rent fund

D. The recreational fund.

Choose the correct answer from the option given below:

1. A only
2. A.Band D only
3.A.Band C only

4. C and D only

Question Number : 107 Question Id : 3421234783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

90 & [T 1S & 91y g1 fhar 2 speficdre 1 i e ffeat & fafor & v d g-
A ARTE [AfY
B. Ufqwima A4
c. T g
D. HARGH 19
A feu U fadedl § 9 ¥8T 3R &1 994 DIfoIu:
1. Had A
2. Had A, B3R D
3. Had A, B IR C

4. ®Had C 3R D

Question Number : 108 Question Id : 3421234784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“left-right party divisions reflect the class division in capitalist society™. This view is criticized by
T.B. Bottomore on which of the following arguments.

A. Parties are alliances between a variety of distinctive groups with divergent interests
B. These alliances are stable and this results into permanent development of Splinter groups
C. Political parties are relatively autonomous from their class basis
D. There is often a gap between local class support for a party and the capacity of any
government to fulfil these aspirations at the state level.
Choose the correct answer from the option given below:
1. A, B.CandD only
2. B, C and D only
3. A.Cand D only

4. A.Band D only

Question Number : 108 Question Id : 3421234784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

~qTr-ef&ur uret f[qUTSH Ysitdre qarsl § aif fquTe &1 ufdfaftad oxar g 314l SiemR
SRI UfRad d T fobd Tl & YR W 3 [daR B SMTeir<-] i T

A. TTieaT i Sl & fafRmy 99gi o1 T8a+H gidi g

B. U oa+H RIF gld § 3R Ig faf=s- gl & = f[dbry & uRurd gid §

C. JSHTd® Uil 39 I7-3M4R I 3UeIdhd U I WA gldl g

D. Ul: Uh UTe] & oIt R 971 9HYe 3R fhdl TROR B o8 TR IR 3D1
HEdh &3 BT IR HIH B &Hdl & §id U 3RId gidl 9|

A1 lGU U [qhedl § 9 a7 IR &1 999 BIIT;
. Hdd A, B, C IR D

2. Hdd B, C AR D
3. had A, C IR D
4. Hdd A, B AR D

Question Number : 109 Question Id : 3421234785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following risks are created by globalization?

A. The spread of weapons of mass destructions
B. Pollution

C. International Financial Crisis

D. Terrorism

Choose the cerrect answer from the option given below:
l.A. B and C only
2. A.Cand D only
3.B. C and D only

4. A. B, Cand D only

Question Number : 109 Question Id : 3421234785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IS GRI B Y SIRGH] &7 (547 gidl o2

A. e fadq & BiYaRI & TR
B. UGl

C. 3RIPIT 2 e

D. 3{[dddlg

A feu U fadedl § 9 ¥8T 3R &1 994 DIfoIu:
. $dd A, B3R C

2. HAd A, C 3R D
3. BAd B, C 3R D
4. Pdd A, B.C 3R D

Question Number : 110 Question Id : 3421234786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to Neil J. Smelser, the social transformations accompany economic development
which can be defined as growth of output per head of population. Which of the following
processes are necessary for economic development?

A. the commercialization of agriculture

B. modernization of technology

C. industrialization process

D. Urbanization

Choose the correct answer from the option given below:

l.A.Band C only

2. A, Cand D only

3.A.B,Cand D only

4.B, C and D only

Question Number : 110 Question Id : 3421234786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

A1 o, HAER & IR, YIS FUiaRul & 1Y 21l [darg i gidl g o g
& Ufd e i O 9fg & =0 o RIS far Sirdi g 21 fahrd & fou Fafaraa d 9
&I Gl ufehant Sa<ad g2

A. PN BT TIHHIH

B. UII®1 BT MDD
C. TS B Ul

D. GBI

A feu T fawedl § 9 o IR B 99 DIIT;
|.Hadd A, B3ARC

2 Hadd A, C 3R D
3. Hdd A, B, C 3R D
4. ®HAd B, C 3R D

Question Number : 111 Question Id : 3421234787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The “Precariat’ is a new class in the making, it consists of those who are unable to gain access to
the labour markets which offer secure employment and decent wages. Which of the following are
included in this class?

A. Older People

B. Unskilled workers

C. Less qualified yvoung people

D. those who regularly move into and out of work

Choose the correct answer from the option given below:

l.A. B and C only
2. B, C and D only
3.A.B.Cand D only

4. A. Cand D only

Question Number : 111 Question Id : 3421234787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HipRge (31HfEa) Faioned= ve 941 i ¢ 394 d a1 GiHerd gid § S 34 4iid SR
o Ugd Ui 3 1 3raad gid € Sl b QRIE ISR 3R 3fd aeigd] U= ded o FafeRad
o & 39 o § giferd g

A UG |

B. AHId 4HH

C. 3TfAf&d gar

D. 5l fob Frafiid U § SriRd iR srifag- gl ©
A1 lGU U [qhedl § 9 a7 IR &1 999 BIIT;

|.Hadd A, B3ARC

2. Hdd B, C AR D

3. Hdd A, B.C 3R D

4. ®Hdd A, C 3R D

Question Number : 112 Question Id : 3421234788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which is not true about ‘ecocentric view’ to address environmental 1ssues?
A. They See economic growth at odds with environmental objective.

B. They believed that by adopting scientific and technical solution, environmental issues can be
addressed

C. They believed that there must be limit to growth
D. The argued that planet is not just for humans but for all living things.

Choose the correct answer from the option given below:

1. A. Band C only
2.B. C and D only
3.A.Band D only

4. A. Cand D only

Question Number : 112 Question Id : 3421234788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁa@ﬁ@aﬁﬁaﬁqﬂmgﬁﬁaﬁm%mﬁ@ﬁﬁ-w'm%ﬁwﬁw
gl g?

A. 9 3 iy ! gafaRoig Iewal & g faunfd & Sud <ad ©)

B. 3514 39 R 944 a1 & a91® iR -l garymT & sifisor 9 yafauiig et
& G fdgT o Yahdl g

C. 351+ 39 R fayr foan i ynifa &1 ues i g =iy
D. 35l Ig I Ga1 b YIE 7 had JI% o iU g qii Siifad uriori & feiu ¢

A fou U fasedl § 9 ¥8T 3R &1 994 DHifoIu:
. Had A B3R C

2. Had B, C 3R D
3. Hdd A, B3R D
4. ®Had A, C 3R D

Question Number : 113 Question Id : 3421234789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the following are correct about genetically modified crops?
A. Genetically modified crops may reduce the genetic diversity.

B. 'Terminator Gene' was planned to be used by Monsanto company in Genetically Modified
crops.

C. ‘Terminator Gene’ ensured that seeds would be sterile after three generation.
D. Genetically modified crops are resistant to commonly used agricultural herbicides and
pesticides.
Choose the correct answer from the option given below:
l.A.Band C only
2. B, C and D only
3. A.Band D only

4. A, C and D only

Question Number : 113 Question Id : 3421234789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT O 4 dH ¥ HaiRe $U Y S Gadl & favg 9§ 98l g2

A. IFAIRS U Y YR B SRS fafaed &1 HH B Gbdl g
B.E@ﬂé@?ﬁmmﬁ@ 0 Y GNied Bydl § -Sfi-ex S & Gai o gie-l
|
C. <efHeR S 3 ug g foban o oie i tifed! & a1e ardR 81 i)
D.m?@wmwﬁw;mm@ﬁwaﬁ?Wﬁ
PN

A feu T fawedl § 9 o IR B 99 DIIT;
. Hadd A, B3R C

2. Had B, C 3R D
3. Hdd A, B3R D
4. ®Hdd A, C IR D

Question Number : 114 Question Id : 3421234790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In the Tibetan kinship system there is the existence of Fraternal Polyandry. What are the premises

of this system?
A. Several brothers sharing a wife.
B. Age range of the brothers is often large.
C. Eldest brother is in control as much as father is.

D. Regulated sexual access within the “family’
E. No regulated sexual access within the ‘family’.

Choose the correct answer from the option given below:

1.B, C,DandE only
2. A.B.CandE only
3.A.B,Cand D only

4. B, C and E only

Question Number : 114 Question Id : 3421234790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

frsacll W= UUMTell H YTge dguld 31 d € 98 UMTell & LRSI &1 g2
A. T3 YT U Uddl DI I13 I ©
B. YIdT3fl & 3 D UERdl U: 991 il g
C. SURdH YTdl ST -1 g1 =01 gid1 & fora=1 far &1
D. ‘URAR" & HiaR [aF-afia aiF Sfims
E. ‘URAR" & HIaR ffaf-afia aF sifam
A feu U fashedl § 9 ol IR B 99 HIIT:
. $dd B, C,D 3R E
2. Had A, B, C 3R E
3. Hdd A, B, C IR D

4. HIdB, C AR E

Question Number : 115 Question Id : 3421234791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

99/139



8/24/24, 12:28 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

A man's lineage fellows are literally and figuratively close to him for they are, after all, the
brothers who have separated their fields and hearths but who continue to sustain their fraternal
allegiance. This ambivalence takes place because:-

A. Ideal of lineage solidarity is not so strongly proclaimed as is fraternal ideal.

B. It is not always clear who should be counted as a full linage member.

C. Linage ties lapse after several generations.

D. The member of obligated generations is not specified clearly.

E. A fathers' brother's son who moves to a distant village is a member for ritual purposes but
can not fully participate in corporate activity.

Choose the coerrect answer from the option given below:

1.B, C and D only

(]

.C, D and E only
3.A.B,Cand D only

4. A, B.C,D and E only

Question Number : 115 Question Id : 3421234791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Udh Afdd & 9% & &I JYIqed SR di&iih U 4 34d gad & Hde ¢ Hifd fSgid
auﬁg@m AR g el B AU, IYF o1 1 91 g1 Y81 41U 3@ g| a8 gydhd uril
EIGIEERIIED

A. d211g TSI BT 31eR] I Codl ¥ WG A8 gidl g a1 Urddd Sexj|

B. g Yod WP gl gidl g b frge! U1 qul 93 Y’ o &9 § &l oI+ 41y

C. d=ig §=%H & Ulfed! & o1g YA gl Sild g

D. T Uifgal &1 W Wy =0 4 (Hd 9g1 8

E. U6 AT & YTl &1 G &1 U o 71d | Il Sl 8, S8H-IRERIH & 3% 4 U
eR § W] 9Mfed Tiafafy o qul &0 4 YT 981 o Havell g

4 fau MU fasetl & 9 F1 IR D1 99 BT
1.hadB. C 3R D
2. Hdd C, D IRE
3. Hdd A, B, C 3R D
4. $HddA,B.C,D3RE
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Question Number : 116 Question Id : 3421234792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are the characteristics of ‘social network groups’?

A. They are often called online communities.

B. They do not involve direct face to face communication.

C. They may not be local and bound to a place.

D. They generate their own language, values, rules and norms.
E. They give members a sense of self and esteem.

Choose the correct answer from the option given below:

1. A.Band C only
2. B, C and D only
3.A,B.CandD only

4. A, B.C,D and E only

Question Number : 116 Question Id : 3421234792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRad @ 9 oF O -gmisis edd SHgl & [a2ydr g2
A. 38 U 3clls1 GH™ Hel S 6|
B. d Ul e § Iifferd 78 gid|
C. Bl gdhdl g [ d ®IHT 3R U ™H Y 95 7 gl

D. d 3T T B HTHT, Yed, (197 3R AHCUS Tgd ¢ |
E. d Y=l &l 3T G & 3HY[d od g

- feu U fasett # ¥ FT IR 1 99 DI
1.Pdd A, B3R C

. HddB, C 3R D

3.$had A, B, C 3R D

4. $hAd A, B,C,D 3R E

B

Question Number : 117 Question Id : 3421234793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which among the following are correct about virtual communities?

A. These are self defined electronic network of interactive communities organized around a
shared interest.

B. such communities may be relatively formalized or be spontaneously formed by social
network.

C. They have specific rules and dynamics.

D. Like physical personal network most virtual communities are specialized and diversified.

Choose the correct answer from the option given below:

l.A.Band C only

(]

. A, Cand D only
33)AB. CandD

4. Aand D only

Question Number : 117 Question Id : 3421234793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

STH FHerE! & S § FEfaRad 4 9 oF 9 98l 8
A.Eﬁéﬁﬁ%ﬁ%aﬁaﬂ?m@maﬁwﬂméamﬁuﬁagﬁm
B. UY T I1 Al 3U&THd T F U=IRSIH 81 Tebd ¢ 2rdl JTHToTdh Jedd Rl

Teol-HiHd 8 ¥d )

C. 3! fafRw Tl 3R faeH gid g
D. Hifd® AfddTd dedh & eI UG YR qgaa fafkw ok fafay gid g

A1 ST U [qhedl § 9 a7 IR &1 999 BIIT;
|.Hadd A, B3ARC
2. Had A, C 3R D

3.A.B.C3RD

4. Had A3RD

Question Number : 118 Question Id : 3421234794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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The changing material culture is impacted by the:-

A. Integrated, global capital identities, which determine global economics and influence global
socletles.

B. Integrated. global capital network, whose movements and variable logic does not determine
economies and influence societies.

C. Integrated, global capital marketing infrastructure, whose functioning impacts on the various
economies and influence societies.

D. Integrated, global capital currency system, whose movements and variable logic determine
economies and influence societies.

E. Integrated. global capital network, whose movements and variable logic which determine
economies and influence societies.

Choose the correct answer from the option given below:

1. Aand D only

[

. B only

3. Cand E only

4=

. E only

Question Number : 118 Question Id : 3421234794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :
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uRRad-=iie Hifddare! Tpid 79 & gRT uHIfad gidi 8:

A. ﬂﬁ%%ﬁ%ﬁ%ﬂqﬁaﬁ@ﬁf\% STaR13l BT R0 Bl § 2R diYd ATl
R JH1d SIcdl g|

B. Guidrd diyd Yol Hedd, foya! midfdfy iR uRad-ia dd srleaawrsi & iR
3R A 1 YU T8l B
&I yHTidd Hdl g

D. YHfdbd, d¥® HaT Hedd o] Mafafe SR uRad-1g ddb srfeaawiray & HyRor
HRAT ¢ R GATS IR UHT ST g

E. GHidd, iy Usil Hedd, [t iafafe 3R aRkad-1a ddb S fd slarawiiafi &1
feR01 R T SR A &l GHIfdd Bd g

A fqU U fashedl § 4 ¥8T 3R &1 994 DIoIU:
. Hdd A 3R D

> Had B
3. $Hhdd € 3R E
4. HAd E

Question Number : 119 Question Id : 3421234795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Ethnic differences have a bearing on social conflict. In order to understand the scale and intensity
of conflicts between ethnic groups a number of factors should be taken into account. These
factors are-

A. Objective differences

B. Economic differences.
C. Religious differences.
D. Social Awareness.

E. Political Organization

Choose the correct answer from the option given below:

1. A.Band C only
2. A.Dand E only
3. B, C and D only

4. C, D and E only

Question Number : 119 Question Id : 3421234795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oY fHIdTd TS Yo Bl GHIfad Bl ©) ol SHgl & Heg Uuyf & 0HH 3R
dIadl &1 YU & HH § T8 HRSI Bl M H [G1 oHl 150 d RS §-

A. IEAY fierand

B. AP fHzdd

C. 1P [Hzrdnd

D. UHISId SRREdhdl
E. JoHid® T84

- feu Mg fadetl # 9 FgT SR &1 997 DI
1.hdd A, B3R C
2. HIAA, D AR E
3.$ad B, C 3R D
4.%HddC, D ARE

Question Number : 120 Question Id : 3421234796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A Noniva of Benaras, flees from his village and take refuge to his mother's brother or to his wife's
brother, when he is in trouble in his home village with the dominant landowners. This is because-

A. They are related through affinal ties

B. He has a lot of property with them.

C. He does not want to stay in his own village.
D. They are his biological ties.

E. He feels lonely in his own village

Choose the correct answer from the option given below:

1. C and D only

(]

. Aonly
3. B only

4. D and E only

Question Number : 120 Question Id : 3421234796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

IARY BT U 11 30 71id o UYcdar YLl & SR THR] H TSH UFTDHR 3O A
o HTS 3UdT (U1 Udl &b HIS & Jgl IRV oidl o I gidl ¢ adifdb-

A. d 9a1ig® S=F! & H1eH I TEd g
B. IUG 37 1Y §gd Ul 9UfI §

C. 98 (U 7id § g1 g1 drgdl
D. d 34 uifdd §%H g
E. 98 30 Tid § 3l 3[Hd Sl g
A feu T fawedl § 9 o IR B 99 DIIT;
. Had C AR D
Hadd A
3. HId B

4. HadD 3R E

[

Question Number : 121 Question Id : 3421234797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the thinkers with their concepts-

LISTI
Thinkers i
Emile Durkheim I. |Fetishism
Karl Marx II. |Elementary Structures

Claude Levi-Strauss

III. | Discourses

ola|w|e

Michel Foucault

TV | Morality

Choose the correct answer from the option given below:

1

(]

Question Number : 121 Question Id : 3421234797 Question Type : MCQ Option Shuffling : No

. A-1IV, B-1, C-II, D-III

- A-IL B-1, C-IV, D-III

. A-II, B-III, C-IV, D-I

. A-III, B-1, C-IV, D-IT

Correct Marks : 2 Wrong Marks : 0

foare! &1 39% Rrgidl & 91y e siku.

T I

T I

FRAGEsH | L

Hd-Ud fayg

HIc HIa L.

——

OIS - | 1L

et

ola|w|e

[EEIRR ] V.

Sfa@an

A fau U fadedl # U Igt 3R &1 99 DIfoIs:

1

2

Question Number : 122 Question Id : 3421234798 Question Type : MCQ Option Shuffling : No

.A-IV, B-1, C-II, D-III

. A-TL B-1, C-IV, D-IIT

. A-II, B-III, C-IV, D-I

- A-IIL B-1, C-IV, D-1I

Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT

LIST1I LISTII
Books Authors

Magic, Science and Religion| 1. |Karl Marx

The Poverty of Philosophy II. |Bronislaw Malinowslki
The Structures of Life World | II1. | G.H. Mead
Mind, Self and Society IV, | Alfred Schutz and Thomas Luckmann

ola|w|e

Choose the correct answer from the option given below:
1. A-IIT, B-IV. C-I1, D-I
2. A-IL B-1, C-IV, D-1II
3. A1, B-II, C-III, D-IV

4. A-IV, B-1, C-II, D-IIT

Question Number : 122 Question Id : 3421234798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

= =
Bfo®, 39 uvs e | L | @ 3
% Ulad! i fraars! | 1. | Sl oot
& oy Hp AgW des | 1L | Td.His
30, Teh UUS WISl | IV. | 3(cihs e IR UIHE oM

AT feu U fasedl § U It 3R &1 994 DIIU:

1. A-TIT, B-IV, C-II, D-I

ola|w|s

2. A-I1, B-1, C-1IV, D-II
3. A-L, B-II, C-III, D-IV

4. A-1V, B-1, C-II, D-III

Question Number : 123 Question Id : 3421234799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LIST1I LISTII
Books Authors
A |NaiTalim I |MN. Srinivas
B. | States and Minorities II. |MEK. Gandhi
C. | On Living in a Revolution and Other Essays | [II. | R K. Mukherjes
D | The Philosophy of Social Science IV |B R Ambedkar

Choose the correct answer from the options given below:

1. A-IIL, B-1I, C-IV, D-1

(]

.A-II, B-IV, C-1, D-IIT
3. A1, B-II, C-II, D-IV

4. A-IV, B-1, C-III, D-II

Question Number : 123 Question Id : 3421234799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

T 1 T I
skl GECER
A |TEdE I w8 . HiHas
B. |%cH UUs AAlers I |TH & e
C. | i1 ffdT 37 U RaleqR U0s 3ieR TR | 11 | 3R, & el
D. |G fFalgre! Aiw Jiee 9eg IV. |91 3R, s

AT feu U fasedl § U 9t 3R &1 994 DIfoIU:

1. A-III, B-1I, C-IV, D-I

]

. A-IL, B-1V, C-1, D-IIT

3. AL B-IIL, C-II, D-IV

4. A-1V, B-1, C-1II, D-II

Question Number : 124 Question Id : 3421234800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI

Method / Developer

LISTII

Example

A |Multvariate Analysis| 1. | Chi-Square Test

B. | Test of Significance II. | Coefficient of Skewness
C. | Central Tendency III. | Cluster Analvsis

D |Karl Pearson IV | Standard Deviation

Choose the correct answer from the options given below:

1. A-IIL, B-1, C-IV, D-II

2. A1V, B-1, C-III, D-I

3. A-II B-III, C-1, D-IV

4. A-1, B-IV, C-II, D-TTT

Question Number : 124 Question Id : 3421234800 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

=
Jarexul

A |G fo=el | I | BE-mRR ok

B. |Mew@®idig | o |fuma quie

c |wsguefy | nr |dod faxayo

D. |Frifomeq | v [AF® fageH

AT feu U fasedl § U It 3R &1 994 DIIU:

1. A-III, B-1, C-IV, D-II

2. A-IV, B-1, C-III, D-II

3. A-II, B-1II, C-1, D-IV

4. A-1. B-IV, C-II. D-III

Question Number : 125 Question Id : 3421234801 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
(Books) {Authors)
A | New Rules of Sociological Method| 1. |Peter Winch
B. |Phenomenology of Social World II. | Anthony Giddens
C. | Studies in Ethnomethodology II1. | Alfred Schutz
D. | The Idea of a Social Science IV. |Harold Garfinkel

Choose the correct answer from the options given below:
1. A-IV. B-III. C-1, D-II
2. AL B-IIL, C-IV, D-I
3.AIL B-IV, €A1, B

4. A-111, B-1, C-1V, D-IT

Question Number : 125 Question Id : 3421234801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

= =
< E0 3 gEaiema #Yg | 1L |diexfdd
BHAHGNT HE giFd dee | 1 [T S
Wa 3 TAMYS el 1. | 3fc3hs I
T HISfEar A U g 9y | IV, | 83ics TIRthdd

AT feu U fasedl § U It 3R &1 994 DIIU:

1. A-IV, B-11I, C-1, D-II

ola|w|s

2. A-II, B-1II, C-1V, D-1
3. A-IIT, B-IV, C-I1, D-1

4. A-III, B-1, C-1V, D-II

Question Number : 126 Question Id : 3421234802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LISTI LISTII

System Location
A |Ryotwan I. | Princely States of Rajasthan
B. |Mahalwari II. |Madras
C. |Jamindari III. | Bengal and Uttar Pradesh
D |Jagirdar IV | Agra and Audh

Choose the correct answer from the options given below:

1

(]

Question Number : 126 Question Id : 3421234802 Question Type : MCQ Option Shuffling : No

. A-I, B-II, C-1I1, D-IV

. A-TI, B-IV, C-1I1, D-1

. A-IIT, B-IV, C-I1, D-I

. A-IV, B-III, C-I1, D-I

Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

ko e
A |TEdErd 1 T &1 2t Ramad
B. |Hedart I |9g™
c. |sefierdt 1L | STt 37 3Tk We ™
D. |SriRgH IV. | 3R 3R 3ay

AT feu U fasedl § U It 3R &1 994 DIIU:

1

]

Question Number : 127 Question Id : 3421234803 Question Type : MCQ Option Shuffling : No

.A-L, B-1I, C-1IL, D-IV

. A-IL, B-1IV, C-1I1, D-1

.A-IIL B-TV, C-11, D-1

. A-IV, B-1II, C-II, D-I

Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LISTI LISTII
Concept Explanation
A Symbolic I The maintenance of power and privilege between social classes from one
" | dominance " | generation to the next.

B. |Social Reproduction | II. | The exercise of dominance through culture and its Mystification.

The process by which a society transmits dominant knowledge from one

C. |Habitus IIIL .
generation to another
Cultural ; . o i L S
D. : IV. |Leamed dispositions which lead people to behave in certain ways.
Reproduction

Choose the correct answer from the options given below:

1. A-L, B-IL, C-III, D-IV

b2

. A-IV, B-11I, C-II, D-1
3. A-IIL B-1V, C-1, D-II

4. A-IL B-1, C-IV, D-III

Question Number : 127 Question Id : 3421234803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1% 1Y &I 11 D1 e Hifoe

el I T I

HTUROT SRS
N LGicacED ; Ue Ulel 4 gudl Uie] & gmfiie ol & offd Widd R [arerfder o
| TYE - | SRETT
B. | HMING U4 | L |Epld 3R SHS! ISHT] & HIH H UHd bl Jai
| eraEa 1L | T Uig! 8 gl iG] H THTS GR1 TGS §4 & UuUl &1 Hishar
o |SriE 1 [T gt S e @ U i P ¥ SaRR S @ AR
BEECE] BEGIE

A U U f[dhedl § 4 9ot 3R &1 994 DIoIU;

1. A-1, B-II, C-III, D-IV

f-2

. A-IV, B-11I, C-II, D-I

3. A-III, B-1V, C-1, D-II

4. A-II, B-I, C-IV, D-IIT
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Question Number : 128 Question Id : 3421234804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
Authors Books
C. Wright Mills I | The Lonely Crowd
David Riesman I1. | Whe Rules Amernica

G. William Domhoff| III. | The Robber Barons

o|la|w|»

Matthew Josephson | IV. | The Power Elite

Choose the coerrect answer from the options given below:
1. A-IV, B-1, C-II, D-III
2. A-1, B-II, C-III, D-1IV
3. A-IV. B-1, C-III, D-II

4. A-I1, B-1, C-III, D-IV

Question Number : 128 Question Id : 3421234804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1d 1Y JEAT 11 DT e Hifoy
==

1. e e L |didHc Bras
Sfas oA I |g &y MRS
o fafermm Smer® | L | IR g
T TG Iv. | gl giaR Teiie

AT fau U fasedl # U Igt 3R &1 994 DifoIu:

1. A-IV, B-1, C-II, D-III

ola|lw|e

2. A1 B-I1, C-II1, D-1IV
3. A1V, B-1, C-III, D-II

4. A-IL B-1, C-1I1, D-IV

Question Number : 129 Question Id : 3421234805 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
Book (Author)
A | An Amernican Dilemma: The Negro Problem and Modern Democracy| I. | Robert and Helen Lynd
B. | The American Soldier II. | Gunnar Myrdal
C. [Middle Town in Transition IT1. | Samuel Stouffer
D. |Sexual Behaviour of Human Male IV. | Alfred Kinsey

Choose the correct answer from the options given below:

1. A-IV, B-1, C-lII, D-II
2. A1, B-II, C-1V, D-IT
3. AL B-III, C-1, D-IV

4. A-II1, B-1IV, C-11, D-1

Question Number : 129 Question Id : 3421234805 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Gt 1% 1Y YT 11 B1 e Hifoe

= =
A |7 3l fEdm: & ol Ulsam Us O Sarshadt| 1 |ed uus god fofs
B. |2 e dieer 1 |TERRsd
C. |fafed e 34 gifoes I | Y3 R
D. | U faefder 3w gga- Hd Iv. |3rdbs frd

A f6u U 9 edl § 4 I8 IR BT I999 BIMIT;

1. A-IV, B-1, C-III, D-II
2. A1, B-1I, C-1IV, D-IIT
3. A1l B-IIL, C-I, D-IV

4. A-III, B-1V, C-I1, D-I

Question Number : 130 Question Id : 3421234806 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Match the List-T with List-IT

LISTI LISTII
(Book) (Author)
A | The Ruling Class [. |Robert Michels
B. |Political Parties II. |Vilfredo Pareto
C. |Elites and Society III. | Gastano Mosca
D | The Mind and Society | IV, | T. B. Bottomore

Choose the correct answer from the options given below:

1. A-IV, B-1I, C-1, D-II

(]

-A-IL B-1, C-IV, D-IT
3. A-1, B-1I, CIII, D-IV

4. A-IV, B-III, C-II, D-1

Question Number : 130 Question Id : 3421234806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

= =
FESNUEGSIE I |3&e HReg
DN EE] 1. |faahs el
Udiled UUs 9igreedl | . |t A
T O3S WS gsat| v | A & stenr

AT feu U fasedl § U 9t 3R &1 994 DIfoIU:

1. A-IV, B-1I, C-1, D-II

ola|w|s

]

. A-IIL B-1, C-IV, D-1II

3. A-L, B-II, C-IIL, D-IV

4. A-1V, B-111, C-II, D-1

Question Number : 131 Question Id : 3421234807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

LIST1I LISTII
Author Book
Ann Qaklev [. | The Second Industrial Divide: Possibilities and Prosperities
T. Piketty II. | The Borderless World: Power and Strategy in Industrial Economy

M. Piore and C. F. Sable | III. | The Sociclogy of Housework

o|la|w|e

K Ohmae IV | Capital in the Twenty-First Century

Choose the correct answer from the options given below:
1. A-II, B-1, C-1I1, D-IV
2. A-IV. B-1IL, C-I1, D-I
3.AIL B-IV, C-L DA

4. A-I, B-I1, C-IV, D-III

Question Number : 131 Question Id : 3421234807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

A |TT sfied 1 | dwvs susiead fsars: uikfafeds uos urafd
B. |& fidd 1L |31 sisYad ges: UiaY UUS Eoul 3 SUSReyd 5o [
. |u. figR o O . wea | m. (< St e ersuad
D. |%. 3iied IV |$Ued 348 o<l BE I

i feu U fa et § 9 I8! IR &1 994 DIfIT:
1. A-TI, B-1, C-IIL, D-IV
2. A-IV, B-III, C-II, D-I
3. A-IIL, B-1V, C-I, D-II

4. A-1, B-11, C-IV, D-III

Question Number : 132 Question Id : 3421234808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

Choose the correct answer from the options given below:

1

2

Question Number : 132 Question Id : 3421234808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g28.digialm.com/CAE/viewHtmIPDFAction.action

Conspicuous Consumption

IV

LISTI LISTII
Concept Author
A | Class situation [. | Amartya Sen
B. | Capability Approach II. | Max Weber
C. | The Stages of Economic Growth | III. | Thorstein Veblen
D

W W. Rostow

. A-II1L, B-1V, C-II, D-1
.A-IV, B-III, C-1, D-II
.A-1, B-II, CIII, D-1IV

- A-II, B-1, C-IV, D-IIT

A 1 & 1Y &I 11 D1 e Hifsiu

T 1 T I
HIYUION TAATP I

A | Rl 1 |emd A

B. |&Tar Uy II. |Aea®w

C. |snfife unfa & =vor| m. | ydiH asc

D. |UexH IuMFT IV. [S&Y, 3&Y, UK

AT feu U fasedl § U It 3R &1 994 DIIU:

1

]

Question Number : 133 Question Id : 3421234809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

- A-IIL B-TV, C-I1, D-I

. A-IV, B-1II, C-1, D-II

.A-L B-IL, C-II1, D-1IV

. A-II, B-1, C-IV, D-III
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Match the List-T with List-IT

LISTI LISTII
Book/Substance Author/Discoverer
A | Population Bomb [. | Sherwood Rowland & Mario Molina
B. | Ozone Laver depleting chemicals | II. |Rachel Carson
C. | Silent Spring III. |Paul Ehrlich
D. | The Waste Makers IV, | Vance Packard

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. AT, B-1, C-II, D-IV
3. A-IV, B-1II, C-II1, D-1

4. A-IV, B-III, C-1, D-IT

Question Number : 133 Question Id : 3421234809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

I 1
S faemie I |2RgS Acivs 3R Al JifeH

3ol TR §RUIER] a1 |38 &
grgaie [’ 1L |Uid Ugleg
T d% HHd IV. |afg G&re
A [SU U [ el # ¥ "l 3R &l 994 B

1. A-I, B-II, C-III, D-IV

ola|w|s

2. AL B-1, C-I1, D-IV
3. A-IV, B-1I, C-III, D-1

4. A-IV, B-111, C-1, D-II

Question Number : 134 Question Id : 3421234810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI LISTII
Concept Explanation
K. |Gababporisss [ ATE_lgorencaJ_.. paradigm that explores the relationship of human culture and
physical environment
3. | Global Commeons | 1 A Situation in which our relationship to the environment while vielding
' " | short term benefits, will have profound negative long term effects.
C. E;E;?muemal III. |Resources shared by all members of the International Community
B | ey |0 Planet Earth itself should be seen as a living organism, in which humans

and other species each have a vital part to plav

Choose the correct answer from the options given below:

1. A-IV, B-111, C-1I, D-1

2. A-1, B-III, C-1V, D-I1

3. A-III, B-11, C-1, D-IV

4. A-II, B-IV, C-1, D-III

Question Number : 134 Question Id : 3421234810 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks

https://g28.digialm.com/CAE/viewHtmIPDFAction.action

: 0
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AT 1S 1Y &I 11 DT e Hifoy

T T 10
HTURTM ST
: % Ggifas HeRl o AHe 95id <R Yiide waiaeu & SE &l
A | dheg N I nainihty
. U FRufd foree fedrafyl Ty Wiy Bl §U Udiartl § AR TeY R
B. |"disd BiA i TR ABRIAS craialeie YHE gl
C. |vuieRuig 3rg | 1L | 3RIP GHard & 94 Taedl GR1 9 6T 70 SEnH
gipia® . | oot e 1 w0 H v Sifad woft & wu H g@ o 9ifet foad s
D | ot V| 3R s Sl B O U o1 ST Yo Bide T 8|
- fSU U fa&edl # ¥ "ol TR & 99 By

1. A-IV, B-11I, C-II, D-I
2. A-1, B-III, C-1V, D-II
3. A-III, B-11, C-1, D-IV

4. A-11, B-IV, C-L, D-IIT

Question Number : 135 Question Id : 3421234811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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According to the Islami Law match definitions of the term given which refer to different forms of
property rights

LIST1I LISTII
A | Mehr I. | Women have the right to stipulate conditions in the marriage contract
i Women enter into pre-marriage agreements regarding their individual property
B. |Hedava 1L o
and access to husband's income.
- ¥ = I = - ineredi
¢ | Nikahnama 1L Iaﬂ; of respect to the woman which form an essential ingredient of a
marriage contract.
: - | Women have the right to refuse cohabitation if the husband does not make
D. |Kabin nama IV =
prompt payment.

Choose the correct answer from the options given below:

|

b2

- A-IIT, B-1V, C-1, D-II

. A-IIL, B-1, C-11, D-IV

AL B-TIV, C-I1, D-1

. A-IIT, B-II, C-IV, D-1

Question Number : 135 Question Id : 3421234811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS Bl & IR QU T eaf D GRUNT DI {HdH HRU Sl Sgere & SiieR! &
faftr =yl &1 Yeitd ol g

A 1 T I
A |8 L |3Rdl @l FdTE & orge J 21d o H &1 AHUBR 8
X IRd 3! SfaarTa graf 31R Mg 1 310 & T+ J (Hare-ad
B. |eqH L | oo e 8
fommEr | 11 | 3RA & Ui 9H & 2 o FETE $ SE @ Ha e
D. [GaFAT | IV | 3R & U8 Ty 7 84 &1 HABR & 9% 2Nex aah e YaH Tef &idl g

A f6u U f[ddedl § U Tot 3R 1 999 HIoIu;

1

(g

-A-IIL B-1IV, C-1, D-1II

. A-IIL, B-1, C-II, D-IV

. A-IIL B-1V, C-I1, D-1

. A-III, B-11, C-1IV, D-1I

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action
Question Number : 136 Question Id : 3421234812 Question Type : MCQ Option Shuffling : No

LISTI
Legal

LISTII
Judgement Ruling

Rameshwar Vs. State of

Supreme Court held that the testimony of the rape victim

Vs. State of Gujarat, 1983

A 3 i [. |should not be rejected unless there are very strong evidences
Rajasthan 1932 PR T
mitigating its veracity.
B. |Rafiq Vs. State of UP, 1980 I Szaprem:e Cm._m held_tha’r corroborat_n‘e evidence of the
woman's testimorny 18 not necessary.
Harpal S“?gh and annther Vs Supreme Court held that in case of rape the necessity of
C. | State of Himachal Pradesh, I1I. : i i 3 = 5
1981 corroboration was to be treated only as a “rule of prudence’.
D Bharwada Bhogibhai Hirjibhai v Supreme Court held that a woman is used to sexual

intercourse is immaterial in a rape trial.

Choose the coerrect answer from the options given below:

1. A-IV, B-1, C-II, D-III
2. A-1, B-II, C-III, D-IV
3. A-IL B-1V, C-1, D-IIT

4. A, B-1, C-IV, D-IT

Question Number : 136 Question Id : 3421234812 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1S 1Y &I 11 DT e Hifoy

GCIR T 11
ST FTE T ST
R T -ared H vl fgar i sareR & Uitsd &1 s &
A f’;ﬁjﬁqw”ﬂ’ | 1 | e 7@ 98T Rdipd [ T A1eT o aF SUS! Sdd &
. f5va 950 ¢ SUHS 98T 7 8|
- IBIP §H IR UeH T ey 4 vl o i Wi &1 1are! & g99de gieg

I, 1980 = fard 781 8|

o |5 g SR U@ o Hdf= e = T fear . e & A o gede
- | & feHEd vew. 1981 Tieg B avgdhdl &l [5d® & BT & aR UL AT S8

D | TSt MR et | [ | Tdte e = Fof fed] o SR & geed H 9y a9k
© | ST TeRIE T, 1983 | v S A i @ e B, FRu$ B

A feu U fadmedl § U Igt 39 &1 994 DISIU:

1. A-IV, B-1, C-II, D-III

III.

2. A-L, B-1I, C-II1, D-1V
3. AL B-IV, C-1, D-IIT

4, A-III, B-1, C-1V, D-1I

Question Number : 137 Question Id : 3421234813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

corruption

LISTI LISTII
(Goal of Good Governance How e-government can help
; Reduction of cost-associated with travel for citizens to interact
A | Increasing Transparency I ;
5 with government
. ; ; Disclosure of public assets, government budget, procurement
B. |Improving service Delivery 1L |- : = B
= 5 information
Putting procedures online so that transactions can easily be
C. |Empowerment of people I11. nE P -
monitored
D Reducing administrative v Providing new channel to marginalized communities to recetve

government services

Choose the correct answer from the options given below:

|

I

.A-L, B-II, C-1IL D-1IV
.A-IV, B-11I, C-11, D-I
. A-L B-IV, C-I1. D-III

. A-Il, B-1, C-IV, D-III

Question Number : 137 Question Id : 3421234813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1S 1Y &I 11 DT e Hifoy

A1 T

TRTE & & {1 59 voR weral % aedl 8
A |URGEAr &l ggHr L |AFRe! &1 WER Y g & (67U uRag 4 g arTd H dH

3 el TR, IWeRT guie, WIitd & g1 &I be
B. |garfaqyom II. i

Uferarat & e T o o8- & JHH 3 3R
C. | &1 gfadmen 1] il 31
D | TR YPER B e | WA @ UG @5 & e dferd et @ 7Y aHa
| ger | SuTe @A
1 feU U faswh el § 9 8! IR B 994 DIIT:

1. A-L B-IL, C-IIL, D-IV

f-2

. A-IV, B-1II, C-11, D-1
3. A-1, B-IV, C-II. D-III

4. A-11, B-1, C-IV, D-IIT

Question Number : 138 Question Id : 3421234814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
Book Thinker

Virtual Communities I | Alvin Tofler

Surveillance Society I1. | Barry Wellman

Personal Communities | 111 | Howard Rheingold

Third Wave IV. | David Lyon

ola|w|»

Choose the cerrect answer from the options given below:
1. A-IIT, B-IV, C-II, D-I
2. A-IL, B-1V, C-II1, D-I
3. A1, B-1V, C1II, D-II

4. A-II, B-IV, -1, D-IIT

Question Number : 138 Question Id : 3421234814 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsu

I3 dEca| 1 |sifcad el
gdaig aNmed | 0. &8ss

T e | 1 |3Es e
Ys dd v |2fqs e

T fSu U foseal # O 9t 3R &1 999 DIfoI0:

1. A-TIT, B-IV, C-II, D-I

ola|w|s

]

. A-IL, B-1IV, C-1I1, D-1

3. A-L, B-IV, C-III, D-II

=

.A-IL B-1V, C-1, D-IIT

Question Number : 139 Question Id : 3421234815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
Tvpe of Society Features

Hunting and Gathering I Distinct inequalities. Ruled by Chiefs or warrior kings. Based on
Societies " | domestication and subsistence livelihood.

; e Based on agricultural. Distinct government apparatus headed by a
B. | Agranan Societies 1L £ = 5

king.
C. |Pastoral Societies III. |Few inequalities. Differences of rank limited by age and gender.
D Traditional Societies or v Stronger Inequalities. Ruled by the chiefs Based on small rural
© | Civilization " | communites.

Choose the correct answer from the options given below:
1. A-II, B-1, C-IV, D-III
2. A-II, B-1V, C-II1, D-I
3. A-IIT, B-IV, C-I, D-II

4. A-IV, B-1, C-II, D-III
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Question Number : 139 Question Id : 3421234815 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

AT 1D 1Y G 11 D1 THAH Pifore

g T
A |ondtendt v a %T&ﬁﬁ%ﬁ@waﬁmwﬁqﬁmm
B. |Fu® 99 1L |8 U= ARG, IS §RI g fddr S are gRay WRaRl o
IR TH 111 | B HEAFdE, 39 1R e R 9ifad ual H ofi
- Y TS yal | [ SREE AT, TRGRT ERI MG, B1E A0 THErE W
e TR

il i

A e U f[d&eul | 9 It 3R &1 999 SIS

1. A-IT, B-1, C-IV, D-III
2. A-II, B-IV, C-III, D-1
3. A-III, B-IV, C-1, D-II

4. A-IV, B-1, C-1I. D-1II

Question Number : 140 Question Id : 3421234816 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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Match the List-T with List-IT

g28.digialm.com/CAE/viewHtmIPDFAction.action

LISTI LISTII
Concept Explanation
A Ecological I Emphasizes on the combination of industrialization, capitalism and
© [ Modernization " | consumerism has transformed society - environment relations.
B Sociology of I Accepts that “business as usual® 1s no longer possible but also rejects
" | consumption " | radical environmentalist solutions involving deindustrialization.
Approach to investigate how some environmental 1ssues come to be seen
C. | Critical Realism III. | as significant and in need of urgent action while others are largely
ignored.
s Approaches environmental issues in a scientific way, bringing together
Social 2 . i : ;
D. : TV, | evidence from across the social and natural sciences to understand why
constructionism &

environmental problems occur.

Choose the correct answer from the options given below:

1. A-1, B-II, C-III, D-1

t-2

. A-II, B-1, C-IV, D-III

L

. A-IV, B-11I, C-1, D-1II

4. A-I, B-III, C-II, D-1IV

Question Number : 140 Question Id : 3421234816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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AT 1S 1Y &I 11 DT e Hifoy

T 1 T 11
A |RRET [ |, duflare SR Susiadiare & Gaer TR 9 ST 8 3R
HEFB B G- 0GR Y| ] SUIRY Bl g
Tg WHR &1 ¢ [ U 0 1 SJaqd Hd I°d el ¢ IR
. |[SRMTPITAS | 11 | Preieseor 37 GFHRTA 3 a1 39 TRV S 140
S d Bl &
- g S4-USdIe &3 &I S PaIv fa [l ToR $% Taiau. o= g/
c ;WE“E* g 1L | Teaqy! AR SHGRTH HNATE & 7Y SfaRad &0 3 @ ol &
STefh 3 e, 10 dR WX JUTRd 38 B
TLiauiy THH &1 300 Bid1 § U8 HHEH o o @ 9rHiee
D. |HmEIs® T9Em | V. |93 Td Widide fax 3 S1ghl &f U Wiy e A g
@ Uid 93 fafiue e

A U U A edl § 4 I8t IR 1 994 HIIT;

1. A-I, B-II, C-IIL, D-I
2. A-IL B-1, C-IV, D-IIT
3. A-IV, B-III, C-1, D-II

4. A-1, B-III, C-II, D-IV

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

2
342123193
No

Question Id : 3421234817 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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The process of urbanization should not unilaterally be associated with forces of modernization or
secularization, even though in some limited sense, as stated by Milton Singer and R. Redfield, in
the metropolitan unban centers as growth occurs from the stage of primary (orthogenetic) to
secondary (heterogenetic) urbanization, fraditional literati may be transformed into professional
intelligentsia, whose function in the changed circumstances may be to mediate between tradition
and modernity. Urbanization even in the ‘secondary’ phases may strengthen the sinews of the
Great tradition because the communication channels which otherwise could be wused for
transmission of modern values, such as modern means of transport, press, radio. sound
amplifiers, etc. are used to further the diffusion of the value system of the Great tradition. Every
step in the intensification of communication thus means not only a benefit to modernity but
equally, or probably more than equally, a benefit to the cause of the reinforcement of the Great
tradition. Cultural renaissance and reformation as processes of change have relevance for Great
tradition. Their significance has been both textual and contextual. Sanskritization as a process of
cultural change has primarily a contextual significance; it 1s particularistic in origin and therefore
belongs to the little tradition, Sanskritization, above all, describes an empirical process in cultural
change, and has been most widespread.

Sub questions

Question Number : 141 Question Id : 3421234818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The processes of urbanization should not be associated with forces of modernization in
metropolitan urban centers-

1. Unilaterally
2. Bilaterally
3. Multilaterally

4. Unrelated with each other

Question Number : 142 Question Id : 3421234819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As growth occurs from primary urbanization to secondary urbanization, in the metropolitan urban
centers the tranditional literati are transformed into

1. Labour class

I

. White collars

3. Professional intelligentsia

o

. Semi-skilled workers

Question Number : 143 Question Id : 3421234820 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

The Great tradition may become more strong in heterogenetic urbanization as a result of

1. constructions of more temples

2. changes in traditional dress code

LS

. diffusion of value system through mass media

4. door to door campaign of religious events

Question Number : 144 Question Id : 3421234821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The notion of modernity is closely associated with

1. intensification of communication through mass media

t2

. performance of rituals in temples
3. orthogenetic changes

4. strengthening of Jajmani system

Question Number : 145 Question Id : 3421234822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are the characteristics of sanskritization:

A. It has a contextual significance
B. It belongs to the Great tradition
C. It is particularistic in origin

D. it has been most wide-spread

Choose the correct answer from the options given below:

1. A.B,Cand D

f2

. A, Band C only

3.A.Cand D only

£

.B. C and D only

Question Id : 3421234817 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
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Question Label : Comprehension

GBI DI UlhdT YFSIHI0T 3yar ¢ FARUENDHR0 &1 idadl & Ty Uhyeig ¥ u g
e gl gl difgu, geiu diffd o4 |, Sl & feed TR SR 3R, I8Wie gRI &gl
T, HeMTRA e dal § fder muiled (e a4 fadas (v
fgmTd) TEER0I § WMl 8, URWRS [dgHvsdg URIaR dfgaidl @ # FU=iRd al
Yahdl 8. dadl gs IRl O 59T S IRART SR Yl & |l TR BT
Yahdl g AeIdvl, Tediad: sariisfi § 1l 7gH IRERT & Ydd $l ee B bdl § HAifd
YR T1eH oY fdb grarnd, U9, ASal, @ yaddal e ot Ui sl snyHd el &
UYUT & felu fohar ST Iahdl U, UM WRERT & Hed-UolTdl & TR & 3N 9¢H & feu fbar
SITdl 8 HdR & Al T Uddh @RI BT Y 39 UHR 7 had ol o ol drvaR
¢, Ud 9H TU Y 314q1 U Y i 36 =9 9 AgH WRIRI & Yddd & gd U R
o | URddd &1 Ufhar & =u d Yikgpldd AsiRUl 1R g4HH{0 4 RERT & fou uriiiis
g1 3-Id! Griadl fawaraTd SR UEdS Gl dig 9 § Uik ide gRadd &l e uidhar &
0§ YPIAH0 bl UNHS U § UHHS Hgd ¢: dg god: [afRwdeard g ¢k oy
RER] & 3fcid AT g S¥pladHRul. FaUR, Gipiad uRad- d sf-<arufde uihar &1
JUH DRl g AR Y=ol g1 g

Sub questions

Question Number : 141 Question Id : 3421234818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HEFTRI e gl § WXidrul &1 Uidsarsi ol SAd w0l &1 kil & W Fraf=id
TE! o S =g e

1. Uhuslg &u g
> feudlgEud
3. SgUEig =u g

4. Uh SR Y QT gl

Question Number : 142 Question Id : 3421234819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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HEHTRI Wl gl § fahm o Wiy Aol d fgd e Ugidh o § ST g,
TRARS [dgHUScl TU=iRd gl STl 6-

L. ¥ ot
2. glhauir |
3. UYR gigeid i o
4. - YD T

Question Number : 143 Question Id : 3421234820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

79 & TRUHRaE T JgH RART f[avH-faRig 2rgdie:or # 3iftd wfda=md 9 ¥l -
1. i Af<R &1 a7
2. URARE 9YHT § gRddq
3. O HaR & AeAH U Hed UTTeil b1 YR
4. YITHP MGISHT BT TR-ER HIM

Question Number : 144 Question Id : 3421234821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y d BT f[daR [Hdhedl I TR 8-
1. O HdR & @10 Y HGR o didibRo 9

2. Ol T 38l & UgRH
3. Fd-fasrd uRadHi 9
4. ST YUl & Yealdh o d

Question Number : 145 Question Id : 3421234822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. 3P THTTEHS Tifadr g
B. U8 HeH WRART &1 311 ¢

A feu U faadedl # U 9813k &1 984 DI
I.A,B,C3RD

Had A, B3R C

3.Had A, C 3R D

4. $HddB, C 3ARD

t2

Sub-Section Number : 3
Sub-Section Id : 342123194
Question Shuffling Allowed : No

Question Id : 3421234823 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

There are broadly two different approaches to rural planning in the Third World: the improvement
approach, which aims to encourage agricultural development within existing peasant production
system, and the transformation approach, which attempts to establish new forms of agricultural
and social organization, and which makes a radical break with existing system in terms of scale
of operation, production techniques, and socio-legal structure. The improvement approach was
especially characteristic of the development policies pursued by British colonial government in
Africa, India and elsewhere. Under colonial rule extension works as often coupled with the
enforcement of various administrative ordinances to prevent soil erosion or to encourage the
cultivation of certain crops. Hence, general incentives to production were combined with
principle of “persistent persuasion™. The cases of non-observance were reported to authorities for
court action. Various governments encouraged the marketing of these crops through state
agencies or cooperafive socleties composed of basically small farmers for selling their produce.
Thus, the colonial governments were willing to assist in developing an infrastructure concerned
with distribution as well as production.

Sub questions

Question Number : 146 Question Id : 3421234824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What was the aim of improvement approach in colonial period?

1. to encourage the farmers to adopt non-agricultural occupations

t2

. to encourage them to grow only certain specific crops
3. to encourage the farmers to grow any type of cash crop

4. to encourage the farmers to grow indigenous crops only.

Question Number : 147 Question Id : 3421234825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With what the extension work was coupled during colonial period?

1. with humble request to farmers

[

. with coercive power

3. no control over peasants

i

. radical changes in organization of agricultural activities

Question Number : 148 Question Id : 3421234826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How was soil erosion prevented during colonial period?

1. launching govt projects by the govt. departments

(]

. by voluntary organizations of the area
3. by enforcement of administrative orders

4. by making appeal to peasants

Question Number : 149 Question Id : 3421234827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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By whom the strategy of improvement approach was implemented.

1. By French Government

t2

. By British Government
3. By Spanish Government

4. By American Government

Question Number : 150 Question Id : 3421234828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In what ways transformation approach to development was different from improvement
approach?

1. It emphasized on the principle of persistence persuasion
2. Tt attempts to establish new forms of agricultural and social organizations
3. It was interested in continuation of existing system of agriculture

4. It operates at a small scale in agriculture sector

Question Id : 3421234823 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

qdig fay o 9T gieHn & T g8 =0 9 © 979 SUNTE 81 GUR drel SunT, o ded
Aol PG G UOTell & Hidk HiNE b I Widlied HAT 8; AR FUidR0l gl
SURTH ST Hivd R IHEMSD HTed & U B0 DI RIMUT S &1 T4 DRl § 3R S
ST GdTeHl, Idie db-idl 3R G-I S & 0qH & <y ¥ disal
JUTcll § S d=be Hal ¢ GURAG! SUNHE 3HbIdl, YR 3R 3 ¥l R o
YIS TRBR GRT 3T s [dhry Fifdal & fa=ivar 4 3iuf+diRie - & 3fdiid,
Y&RUT b1 A U1 S fa=Y Bl B Wil Bl UIETigd D o 61U, TR S &l U fafis
TRINHG SR & T A fhan ST 4T 39 UhR, A6 & ot I Wieie <dd
AT & UG & 91y Gaiferd fhU U | ST 9 H3 & USRI &I A1l 1Rdls &
feru uniern Al &1 Yierd fhar Sirdm o1 9 RaRi 4 39 Bydl & fauuH of ol 30 &
fdhd & U ®i¢ fhuHl ¥ S YgbRT a4l 1 o9 AHHRUT gGRT Uidifgd fdban 59
ThR AUHARIG WEHR fdaR0 & Y- Idled & il Agw@yul SRR & fdhg H
YRR & fog daR 1|

Sub questions
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Question Number : 146 Question Id : 3421234824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AR BT § IR & SRHI0 ST a9 o1 U1
1. TR-$MW ¢efl I 3ffipd H & feiv {harH! ol iciigd H1
2. 3¢ Do [9Y By gl 371 & felu Uichiigd &=
3. [l &1 {5l 1 YR 1 el B 37T & folt UieHiigd =1
4. UMl @1 bad &2 B I & (g TR B

Question Number : 147 Question Id : 3421234825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YGRS $Id § TR & &l fbad 9 gRird fhar mar
1. fb gt 9 fa 1w a1 & ary
2. 3quiss fdadl & g1y
3. PUDI IR Plg (40 76l
4. P TiTafERl & s | e gRad-

Question Number : 148 Question Id : 3421234826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HafYaRIS I H Y&RUT BT by b ST U1
1. ORI TTUFT gRTRORT URATSHI3 BT GAYTdHAT
2. 3Y &4 & WUHdD Il gRI
3. MDY ATC & Fdcdd gRI

4. PYDI Y 3ARIY B

Question Number : 149 Question Id : 3421234827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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YYRAC! SUNTH &1 0T fhTd gRT AR 6f 715 412
1. IR TRBR gRI

2. T RER gRI
3. WY WMBR gRI
4. JHRNPD BHR gRI

Question Number : 150 Question Id : 3421234828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fIh T BT TUIGRUMIC] SUFTH GURAIG] SUNH U fb ¥ UbR fd o1 2

1. U8 Idd YAa- & gl R §d ¢dl g

2. g $itd 3R HHESISH WISl & U =4[ Bl RG] T UI1H Hdl §
3. 98 $Y & GISEl YulTell &l FRadr 4 31y |
4.8 DY &7 H BIC UG IR HdIed Sl g
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